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A & 0l & AF 2 E A A
20229 = 20la LB JIEISESH DEs ~ ARS
2N DS
Ha: =0l 8N MO T2(DHE)
Chelr BM=XME 29 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
s 768,920 776,859 AT7,939
F0 WY B SR2(LNHS) 83,657 83,408 249
HF=FXNHH 2 83,657 83,408 249
=.Bt& K& 56,160 60,840 A 4,680
301 LPEAZF 56,160 60,840 A 4,680
05 8% -0 -tH¥ESE4S 56,160 60,840 A 4,680
1.88+8 € &3l 56,160
ol 300,000&*12H «x12& 43,200
L. &= 300,000& x12& #23| 7,200
Ch.3l o & A =g 20,0003 «12H «23|«12& 5,760
FOUMXNHMHEZOH 29I 17,896 13,296 4,600
201 €24l 13,296 13,296 0
01 At 22l 13,296 13,296 0
(Zer==gHl) 1,296
1.FE XX EEH2E 120,000& =122 *90% 1,296
(2g9+¢) 12,000
1.:2UXEE ZAE 12,000
b AEZEHA 25,0002 *8Al 2+ x 122 2,400
Lot uwa 25,0003 *8Al 2t+128 2,400
CHOIB A= 25,0003 *8Al 2+ =122 2,400
. ETEHA 25,000 *8Al 2t x 128 2,400
Oh.g2E 0t 25,0003 x8Al 2+ 12 2,400
405 XHoHF S HI 4,600 0 4,600
01 At EZFH S 4,600 0 4,600
1. XEH 34 b+ 4,600
.88 it 230,000& 204 4,600
EANFX 22 9,601 9,272 329
101 @124l 6,705 6,376 329
04 JIZHHZ2Z2XNSE+ 6,705 6,376 329
(SEAN B3 02dY) 6,705
1.8+ 6,046
Jb.201 73,2802 /8AI2Ex 1 #55A] 2b« 12 6,046
2NSNREY BEEE 659
FATHEEZ 6,046,000& =0.878% 54
L.nE2Es 6,046,000 x1.65% 100
(B R =gl = = 6,046,000 *4.5% 273
ct.2RALEEE 6,046,000 x3.43% 208
O EIIQAEEE 208,000 *11.52% 24
201 LBt | 2,89 2,896 0
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01 At 22l 2,896 2,896 0
|LRoFY 2L+~ 208,000 * 122 2,49
2 NGB LR
200,000 * 10 2 23] 400
SADJIBAIE BUHI(LES) 15,000 15,000 0
S AIDIEHAIE & HI 15,000 15,000 0
A==2 ANEE FHI 5,000 5,000 0
401 Al HIZ 201 Y] 5,000 5,000 0
01 A& HI 5,000 5,000 0
1.Aa2S ANEE A2 5,000,000& » 14! 5,000
FUEMHMA SEHEAY 10,000 10,000 0
401 AIEHI L 20 10,000 10,000 0
01 A& HI 10,000 10,000 0
1.0t=5 2 FOHHI Ol & X 10,000, 000& * 14! 10,000
HYRIZH (DAES) 670,263 678,451 A 8,188
el 2 593,496 602,876 A9,380
ol 2| 593,496 602,876 A 9,380
101 14l 572,256 581,636 A 9,380
01 2= 572,256 581,636 A 9,380
(22) 421,572
1.HSHO(Y) 85,587
.s% 82,295,000& »1H 82,295
Lt. ™ & ] 82,295,000 *4% 3,292
2.3 (10Y) 335,985
.e3(21e8) 3,938,200 x2H x12& 94,517
Lt.72(7s8) 2,478,300 3« 12& 89,219
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Ot X <L IH &8I 323,062,000 *4% 12,923
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1.UHRERE = 721
7R (82 1658)
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2. 82=¢ 335,985,000& *1/12 27,999
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Jb.25E 0] & 130,000 1 =123 1,560
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Ct.2 M X4 60,000& *3H x12& 2,160
(E4222Y) 14,040
1.€Ex322 14,040
h.s2F2xY 70,000& «10¥ x12& 8,400
L. Ol RSE 50,000& 2 x12& 1,200
Ch. Al EXgR2a 70,000& x4H x12& 3,360
IINEEMEERR=S I
30,000& *3E x12& 1,080
(ZB2249) 44,685
IS EEES
10,952& *34 Al 210 « 128 44,685
(AHlE2d 5) 52,079
1. 3 HZ A 140,000& x11¥ x12& 18,480
2. @& S JtH| 335,985,000 x1.2/12 33,599
204 = 2 4= A H| 21,240 21,240 0
02 &= & xH| 21,240 21,240 0
1. 832 X4 21,240
ot.52 250,000 x1H x12& 3,000
Lt.62 165,000& x2H x12& 3,960
Ch.72 155,000& »3Y¥ x12& 5,580
ct.8~92 145,000 x5 128 8,700
| &2 &l 76,767 75,575 1,192
ol =l 76,767 75,575 1,192
201 LBt Y| 36,787 35,095 1,692
01 A2 2218l 16,939 16,731 208
(2er+gHl) 10,003
1L aN2g=g 300, 0002 *1124 x80% 2,640
2.0HZ2E2 AIRES 100,000& *12& 1,200
3.Ex2 ¢22X 26,000 x158F A 390
4 002FSHAN LSS X 83,2503 x58F A 417
5. T2y EH/EH 200, 0003 *4CH x43] 3,200
6. A El4 150,000& *1CH %4 3] 600
7.00&50|2l2 20,000& =10~ 12& 240
8.2AIE X 20,000 x258F A 500
9. 8L0|UX = 30,000& = 12& *2CH 720
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(2d4Y) 600
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(ZZ22YLHA) 17,924
1.2 3,294
JF . Bt 430@ x50 x12& 258
L. S9I 2,530 1002 x12& 3,036
2. 80|12 900,000& x12& 10,800
3.4 o3 100,000& x12& 1,200
4. 83 XeL2 250,000& *13] 250
5. X Xt &f 2,380
DIUNE=DN| 130,000& *2[H *x 13| 260
L. ZAI =2 60,000& *2CH * 13 120
Ch.XEEE = 1,000, 000& =2CH *13] 2,000
(Al &I S Xdl) 1,924
1.8 AEH A2 100, 000& *1LH 100
2. 20 E0IAIAE X2 2H|
33,000 *2CH *4 3] 264
3. NS AAIAE X2 4H|
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4. BNHE RANES 600,000 600
HE XS 22|l 100, 000& *2[H *33] 600
202 04| 29,100 29,100
01 2L Y| 4,800 4,800
1.2l 20,000& x10L x2H x 128 4,800
02 & 40| 24,300 24,300
1.2 ¥ 225,000 x9H x12& 24,300
203 ¥ R =&XH| 9,080 9,080
01 J|2A29 PR =&Y 5,940 5,940
1229 28| 6,600, 000& 1 *90% 5,940
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1AM AH2FEH| 40,000& *11H 440
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o E&¥sY 300,000 x41H «12& 147,600
L. &= 300,000 *41H *23] 24,600
Ch.3lo &8 20,000 418 23| 128 19,680
FOTXNHMHEZZ ) HESA 18,096 18,096 0
201 Bt 4d9H]| 18,096 18,096 0
01 AP 22| H| 18,096 18,096 0
(Let=2dH|) 1,296
1.FXNXHE2E | 120,000 12 *90% 1,296
(2d+Y) 16,800
.ot oAl 25,0002 x8A| 2tx12& 2,400
L AZXHA 26 25,0003 «8A| 2tx12& 2,400
Ch. A=A NZBH 25,0003 *8A| 2tx12& 2,400
cf g CH A 25,0003 *8A| 2tx12& 2,400
OF.chol e A 25,0002 «8A| 2tx12€ 2,400
Hi . gt=201&£5 25,0002 «8A| 2tx12& 2,400
NS = IS 25,000 x8A| 2tx12& 2,400
HAIS X 22| 9,980 2,980 7,000
201 2Et24A Y| 2,980 2,980 0
01 AP 2t 2] d| 2,980 2,980 0
1. 20302l =2 220,000& x12& 2,640
2.EAMNEIIGHEHH L2
170, 000& =1} A %23 340
401 Al HI L E0HHI 7,000 0 7,000
01 Al&H| 7,000 0 7,000
TAIAEHOHA W 3,500,000 =2CH 7,000
FOEHAH AN SETHEAY 10,000 10,000 0
405 XHAHF S HI 10,000 10,000 0
01 XA 2 FF S| 10,000 10,000 0
1.284 AH.Ol.CHAIZSl=E ol0ts et #24A)
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2,322, 100& x1H x4 1%*12& 1,143
2.832x4 487,836,000& x1/12 40,653
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Jb.25E 0] & 130,000& *3H x 12& 4,680
Lt. 104 0] & ~154 0] 2t 60,000 *3H x12& 2,160
Ct.54 0| A~10E= O CF 50,000& x4H =128 2,400
(JHHEE 24 6,480
1.5+ 6,480
Jb . B < Xt 40,000& x5H x12& 2,400
LE.JIENIS 20,000& *12H = 12& 2,880
Ch. AR XA 100,000& x1H x12& 1,200
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L DRgsd 50,000& *3E x12& 1,800
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F0l A EO T2 (EAIS) 114,144 114,144 0
HEEXNLMEH 29 114,144 114,144 0
s .B& X 84,240 84,240 0
301 et A =2 84,240 84,240 0
0B SHE -0 -EHEESEMN= 84,240 84,240 0
€34 o 2| 84,240
b olesg 300,000 x18H x12& 64,800
L. &= 300,000 x18H »23| 10,800
Ch.3lo &8 20,000 x18H x23| x12& 8,640
FOTXNHMHEZZ ) HESA 13,296 13,296 0
201 Bt 4d9H]| 13,296 13,296 0
01 AP 22| H| 13,296 13,296 0
(eta=24|) 1,296
1.FXNXHE2E | 120,000 12 *90% 1,296
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SM: BAIS
=1

H: HMSAAH (BA1S)
@ Jl2gl (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
5. 88X 760
I AHsSHEE s 500,000& x1CH*13] 500
Lt. XS RHA 100,000& *1CH*x 13 100
C.E8IIZ A2 60,000 *1CH*13] 60
ch .22 100,000& *1CH*x13] 100
6. XFSE =KX 1,190
I AHsSHEE = 1,000,000 x1CH*13] 1,000
Lt. Xt S XHA 130,000 *1CH *x 13 130
CH.E8IIZ A =2 60,000 *1CH *13] 60
(Al ZHI S Xdl) 3,724
1. E3MHAERIES 1,000,000& 1,000
2.2 E0AAERSAE L 33,000 +20H 43| 264
. ANSUMAABSIE S
30,000& *1CHx12& 360
4. SHIXNSE RFH 100,000 x1CH*12& 1,200
SHEXE =2l 100, 000& *2CH 33| 600
6. XFE =SS MIISHH
25,000& *1CHx12& 300
202 0db] 29,100 29, 100 0
01 2LHOHI 4,800 4,800 0
1. =AYl 20,000& 10 x2H x12& 4,800
02 EHNYI 24,300 24,300 0
1. 2N 225,000& x9H = 12& 24,300
203 R =&H| 9,080 9,080 0
01 J|2A2HLR=AH| 5,940 5,940 0
10|22 R =] 6,600, 000& * 1= *90% 5,940
02 HRJAE R =&Y 440 440 0
1. 83NN 40,000& *11H 440
04 ENSHLRF=XH| 2,700 2,700 0
1. 2AN2ELERFAH| 250,000& * 12& *90% 2,700
204 &R = A H| 1,800 1,800 0
01 S HR-HAY| 1,800 1,800 0
1. 88 ZHRF=EY| 1,800
h.s& 150,000& *1H x12& 1,800
405 XHAHE S| 300 1,970 1,670
01 AL =2 EFH SHI 300 1,970 N 1,670
1. 201012 o Xt 60,0003 =5CH 300




>
A & 0l & A & F Al
20229 = 20la LB JIEISESH DEs ~ ARS
SM: Ba2s
HE: =0l #N MO 9 (HM2S)
& HAF=EXNMEH2E (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
FA2s 826,346 855,016 A 28,670
F0 MY Ho SR(FA2E) 138,545 133,340 5,205
HF=FXNHEH2 S 138,545 133,340 5,205
=.Bt& K& 117,000 117,000 0
301 LPEAZF 117,000 117,000 0
05 8% -0 -tH¥ESE4S 117,000 117,000 0
1.88+8 € &3l 117,000
ol 300,000& x25H «12& 90,000
L. &= 300, 0003 259 #23| 15,000
Ch.3l o & A =g 20,0003 «25F «23|« 128 12,000
FOUMXNHMHEZOH 29I 3,480 3,480 0
201 €24l 3,480 3,480 0
01 At 22l 3,480 3,480 0
(Zer==gHl) 3,480
1.FE XX EEH2E 100,000& 122 *90% 1,080
2.FUNXNME ZA=S(23t2lLinA)
25,0003 *8Al 2t 128 2,400
EANFX 22 9,565 2,860 6,705
101 @124l 6,705 0 6,705
04 JIZHHNZ22XNSE+ 6,705 0 6,705
(SEAN Ha o822 0
1.2 6,046
DI=; 73,280 /8AI 2Ex 124 #55A] 2bx 12 6,046
2 AR EER 659
Jb.ZRH=zEER 6,046,000& *4.5% 273
L. IAHLEEE 6,046,000 x3.43% 208
.oV AEE= 208,000& x11.52% 24
ct.IE22ER 6,046,000& x1.65% 100
ot &4HEE = 6,046,000& +0.878% 54
201 Let24d] 2,860 2,860 0
01 At 22l 2,860 2,860 0
1.2o 3 eltid 2 220,000& »12& 2,640
2NN Y2
110,000& =100 2 %23 220
FUEHEOMU A SEHEAY 8,500 10,000 A 1,500
401 Al HIZ 201 I 8,500 0 8,500
01 A& HI 8,500 0 8,500
1.Jt2+ eIx&C0 =24 8,500,000 » 14 8,500
SAIDJIBEAIE B (B A2S) 5,000 5,000 0




SN Ba2S
M TADIBFAIE FHI (B &28)
SHel: SAIDIBHAIE ] (erel:&d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
SADIBAIE F 5,000 5,000 0
AB2 AEE FH 5,000 5,000 0
401 AlEHIZ 2 OHI 5,000 5,000 0
01 Al&H 5,000 5,000 0
1,422 AlZ2 |X22 5,000,008 14! 5,000
HHS YA (B L2S) 682,801 716,676 133,875
ol eyl 594,307 617,123 122,816
ol eyl 594,307 617,123 122,816
101 @124 571,327 594, 143 122,816
01 =24 571,327 594, 143 122,816
(22) 415,897
LeEEM0Y) 85,587
ot E=F 82,295,0002 *1% 82,295
LE. X <K & i 82,295,000 *4% 3,292
2. 83 (1) 330,310
ot.62(1852) 3,749, 1008 «2% » 12 89,979
u.72(7se) 2,478,300% *3% » 122 89,219
CH.82(55 ) 2,042,300 «4% » 12 98,031
2t.92 (25 =) 1,682,3002 x22 » 12 40,376
Ob. X 2 & bl 317,605,000 4% 12,705
(doixg) 32,446
1324 330,310,0002 *1/12 27,526
2.824g0a2 4,920
b 15101 &~204 01 8 80,0008 «2 « 128 1,920
Lb.5 0/ &~102 018 50,0008 «5% 128 3,000
Sl =EE =) 4,800
1ot=Eag 4,800
O HH 2 Xt 40,0009 *5% * 128 2.400
LEDIERIS (XA &)
20,0002 +7% * 12 1,680
Ch. S M Xt 60,0002 * 1%« 128 720
(S4224%) 15,840
1.S+224y 15,840
ts224Y 70,0008 112 « 128 9.240
Lh.olegeag 50,0002 ¥32 » 12 1,800
CHAIBISXIZP4E 70,0008 x4 <128 3,360
2hABI =X YR+t a3
30,0008 x42 » 122 1,440
(zn22+¢) 49,153
LA 2RrY
10,9528 +34A1 2H+ 112 12 49,153




SN B2
H: HMSAAH (B A2S)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
(AHlE2d 5) 53,191
1. 2 HZ A 140,000& 128 x12& 20,160
2. @& S JtH| 330,310,000 x1.2/12 33,031
204 = 2 4= A H| 22,980 22,980 0]
02 =2 & xH| 22,980 22,980 0
1. 832 X4 22,980
ot.52 250,000 x 18 x12& 3,000
Lt.62 165,000& x2H x12& 3,960
Ch.72 155,000& *3H 128 5,580
ct.8~92 145,000 *6H 128 10,440
Jl2&Hl 88,494 99,553 A 11,059
Jl2&H| 88,494 99,553 A 11,059
201 et A | 39,574 38,254 1,320
01 At 22l ] 19,350 19,110 240
(der==24|) 11,082
1. 2NSH=SH| 300,000& *12H *80% 2,880
2.0HZ2E 2 AIRES 100,000& = 12& 1,200
3.e150|2 = 20,000& *4 12& 960
4. 40l HEH 200,000& *4CH *33] 2,400
5.d00E™ 200,000& *83| 1,600
6.FUSEST2LSEX 26,000 * 172t A 442
7.0UdSENEZIESESEX 80,0003 x78FA 560
8.=2AIE X 20,000 x40 A 800
9. HOISTVAIE R 2 20,000 x 1200 & 240
(2xt2) 756
1. 8] 30,000& =12& = 1CH 360
2.2J|FXHI(EAR) 33,000& =122 = 1CH 396
(2d44Y) 600
1. 9256 60,000& x1H ~10 600
(Z2dl) 6,912
1JI2gR+HEZ S A HI
8,000& x6A!x12H x12& 6,912
02 33249l 20,224 19,144 1,080
(BZ222LAHA) 13,990
1.28= 3,810
Jb. Bt 4303 *15024 «12& 774
L. S9I 2,530& 10024 x12& 3,036
2. 80|12 600,000& ~12& 7,200
3. 40t 2 40,000& ~12& 480
4. 83 XH LT 100, 000& *13] 100
5. 5HIXNY BE S 1,000, 000& =2CH *13] 2,000
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H = 0 A&F AF S & Al
20228 = 204 LB H L JIEISEEH DS ~ 22S
SH EMSE
M. 0l MA HO| TD(HMIS)
el HESRME 29 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa HDS
EA3S 945,949 945,067 882
F0l A HO QR (AAIE) 195,565 195,220 345
HEEXNLMEH 29 195,565 195,220 345
s .Bt&E X& 140,400 140,400 0
301 deEtE X = 140,400 140,400 0
0B SHE-0& - -EtEes8a3 140,400 140,400 0
1.8&8Y 2 25| 140,400
bolEsg 300,000& x30H x12& 108,000
L. &= 300,000& *304Y *23| 18,000
Ch.3 o &Y 20,0003 *30H x23| x12& 14,400
FOUXXNAHEZ ) 2H 35,220 35,220 0
201 Bt A H| 35,220 35,220 0
01 AFR2 2t 2l Yl 35,220 35,220 0
(eta=24|) 1,620
1. =0 XX A B 2 b 150, 000& = 12& *90% 1,620
(2g94+4) 33,600
1.0 AR HE 2AE 33,600
b AT XA 25,0003 *8Al 2tx12& 2,400
Lb. XY S A 25,0003 *8A| 2tx12& 2,400
Ch.oteuwal 25,0003 *8Al 2tx12& 2,400
et IJISHX 25,0002 *8A| 2tx 128 2,400
OF. A O Bt 25,0003 *8A| 2tx 128 2,400
g . Z 208t 25,000 «8A| 2tx12& 2,400
A CHE W A 25,0003 *8A| 2tx12& 2,400
OF.CtE & (nZ8H) 25,000&*8Al 2+x12& 2,400
PN R=1l 25,0003 *8A| 2tx12& 2,400
i.2els 25,0003 *8Al 2tx12& 2,400
. QIHF2H) 25,0003 *8A| 2tx12& 2,400
Et.EH=A 25,0003 *8Al 2tx12& 2,400
ot . 2IH(0F2}H) 25,0003 *8A| 2tx12& 2,400
ot . At Xt 25,0003 *8Al 2tx12& 2,400
H AL X 22| 9,945 9,600 345
101 @121l 6,705 6,376 329
04 JI2ZtH2E2XNEE S 6,705 6,376 329
(SEA HA o122]) 6,705
1.8 6,046
Jb.2: 73,280 /8Al 2 x1H «55A| 2+ 128 6,046
2ANENHEY BEEs 659
M THESE 2 6,046,000& x0.878% 54
L. DEBE= 6,046,000& *1.65% 100
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SM: BA3S
Ha: =0l #N MO 2(HMIS)
el H=XME S CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Ch. 2002882 6,046,000 *4 .5% 273
ch.ZoAHAESE S 6,046,000 *3.43% 208
O S &E)IQYBE=2 208,0002 *11.52% 24
201 2Et24Hy| 3,240 3,224 16
01 AP 2t 2] H| 3,240 3,224 16
REEIE- TR 240,0002! 12 2,880
2HANIIAHHS 442
180, 000& * 1 A %23 360
FOIEHAHNHA SEHEAE 10,000 10,000 0
201 et 7,000 10,000 A 3,000
01 AR 22l ] 7,000 10,000 A 3,000
1.0l 2 FNSHEX 2 7,000,000& 7,000
405 XHAHF S HI 3,000 0 3,000
01 XA 2 ZF S| 3,000 0 3,000
[ ORIOIAHESEI Y RREYSI| 7
3,000,000& 3,000
T AIDIBHAIA HH| (& A3S) 5,000 5,000 0
T AIDIBHAIE & H| 5,000 5,000 0
A2E ANAEES HY| 5,000 5,000 0]
401 Al HI L 2 0HHI 5,000 5,000 0
01 Al& H| 5,000 5,000 0
1.082 A= A2 5,000,000 =14l 5,000
SHM2HAH| (2 A3S) 745,384 744,847 537
olad 2 A Y| 650,860 645,497 5,363
oled A Y| 650,860 645,497 5,363
101 e1214| 626, 140 620,777 5,363
01 E% 626, 140 620,777 5,363
(23) 451,784
1.92H (1Y) 85,587
. s& 82,295,000 x1H 82,295
Lt. X <K & H| 82,295,000 4% 3,292
2. 834 (129) 366, 197
.62 (198 2) 3,815,600 »2% x12& 91,575
L.72(11se) 2,863,100 *3¥ x12& 103,072
t.sz24s=) 1,950,300 x4 «12& 93,615
.oz 4sE) 1,773,600& x3H «12& 63,850
OF. X S JH & 8l 352,112,000 *4% 14,085
(M) 37,195
1TLURBRIAE 3,815,600 *4 . 1%~ 12& 1,878




& AM3S
82 A (2 M3E)
SRR e )
SA-HB .Y (BH) - MBPAY - B2 o A o SSa H RS2
2.82+¢ 366, 197,000& x1/12 30,517
3.32xgIta = 4,800
Jh.20E Ol & ~25E 01 BF  110,000& x 1H »12& 1,320
Lt. 153 0] & ~20F 0] Bt 80,000& x1H x12& 960
Ch.104 0] Ab~154 0] 2t 60,000& *1H x12& 720
ct.5E 0l &~104 0] 8t 50,000& *3H x12& 1,800
OHHEdg) 7,200
1.5 7,200
Jb . Hi < Xt 40,000 x7H x12& 3,360
LE.JIEHIS 20,000& 108 x12& 2,400
Ct.= M X4 60,000& x2H x12& 1,440
(S4222Y) 17,880
1.5x82aY 17,880
h.s22+Y 70,000& x12H = 12& 10,080
LI Ol RY 50,000& *3H x12& 1,800
C A S X g2 70,000& x5H x12& 4,200
ct At S XN ERYIta 3
30,000& x5 x12& 1,800
(Z222Y) 53,621
1A 2R
10,952& *34 Al 212G x12& 53,621
(AHle4d 5) 58,460
1. 83U Z A 140,000& *13H x12& 21,840
2.9 & 3 0ty| 366,197,000& x1.2/12 36,620
204 M2 = A H| 24,720 24,720 0
02 =28 X4 24,720 24,720 0
1. 228Xl 24,720
ot.53 250,000& x1H =12 3,000
Lt.62 165,000& x2H x12& 3,960
Ct.72 155,000 *3YH x12& 5,580
ct.8~9= 145,000& *7H x12& 12,180
|23 94,524 99,350 N4 ,826
Jl2 &4l 94,524 99,350 N4 ,826
201 Yet2 | 45,064 45,220 £ 156
AP 22l bl 18,791 18,998 N 207
(et4=24|) 10,703
1. 282934l 300, 0003 *13H *80% 3,120
2.0HZER2ANRES 100,000& = 12& 1,200
3.FUSES=2E 26,000& *255 A 650
4 A02LSHANLSEX 80,000& x128F A 960
5.d4I01 4 EH 200,000 *4CH *33] 2,400
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2N BME
B ¥H2H AL (3 3S)
chelr D123l
SA BB O () - MM - HES 0l &+ o4 il
6.401HEH 100,000 »3CH 23] 600
7.2080]el& 20,0002 *34 6 & 360
8. HAE 90,000 *2CH 23] 360
9.=AEXI 20,0003 »128r A 240
10,80 2Xt& 30,0003 123 2CH 720
M.ACIETV=A Z 7, 7003 104~ 12& 93
(2g9+¢) 600
1. 98+ 60,0002 x1H 10! 600
(SgHl) 7,488
1olEdRsssag A
8,000 x6AIx13H 128 7,488
02 3322l 26,273 26,222 51
(822232 % HA) 19,777
1.28= 4,767
Jb. et 4302 *10024 =128 516
L. 21 2,530& x140244 123 4,251
2. 80|12 900,000& »12& 10,800
.40t R3 130,000& 12& 1,560
4. 8338 LR 300,000& x13] 300
5. 58I 960
I AASHEE S 800,000& x1CH*13] 800
L. Xt = XEAl 100,000 *»1CH 13l 100
B s N = 60,000& x1CH*13] 60
6. X=X 1,390
I AASUHEES 1,200,000& *1CH*13] 1,200
Lt. Xt S XA 130,000 *1CH x 13l 130
. E3IIEMsE 60,000+ 1CH 13| 60
(A2 & Bl | XHl) 6,496
1. EAHASRAE = 2,000,000& 2,000
2. WA 100, 0002 »2CH 200
3. &= 50,000& »2CH 100
4. HE LS FHI 100, 000& = 1CH 100
5. 20 S0\ A8 S E+Hl
33,000 43| x3CH 396
6. N SAAMAAE SN2 44|
30,0003 x1CH*12& 360
7.SYEXNY FFH 120,000 = 1CH = 1200 & 1,440
8.sdHEXE =cltl 100, 000& *2CH =33l 600
9.4 RAES 130,000& = 10CH 1,300
202 odl 34,200 34,200 0
01 = LH o4 1l 7,200 7,200 0
1.2 WA 20,0003 «10 x3H 128 7,200
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N = 0 &8 AFH Y & A AN
20228 = 204 LB H L JIEISEEH DS ~ 22S
2N ERE
M 3o #E MY TO(LAUE)
el HESRME 29 (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
et 1,114,529 950, 191 164,338
F0 MY HO C2(LS) 195,145 204,179 N9,034
HESKHMH 29 195,145 204,179 N9,034
S NN 145,080 154,440 N 9,360
301 deEtE X = 145,080 154,440 A 9,360
0B SHE-0& - -EtEes8a3 145,080 154,440 N 9,360
1.8&8Y 2 25| 145,080
bolEsg 300,000& x31H x12& 111,600
L. &= 300,000& *31H *23| 18,600
Ch. &8¢ 20,000 *31H x23| x12& 14,880
FOUXXNAHEZ ) 2H 30,420 30,420 0
201 Bt A H| 30,420 30,420 0
01 AFR2 2t 2l Yl 30,420 30,420 0
(etE4ddl) 1,620
1. =0 XX A B 2 b 150, 000& = 12& *90% 1,620
(2g94+4) 28,800
1.0 AR HE 2AE 28,800
b, =2t Al 25,000 *8Al 2Fx 101 A %12 2,400
L. Ot Al 25,0003 *8Al 2t x 10 A= 12& 2,400
Ch.erorch A 25,0003 *8Al 2tx 101 A %128 2,400
ch.Jtw Al 25,0003 *8A| 2 x30M A x12& 7,200
0.8 =204  25,000& «8Al 2tx1J1 A x12& 2,400
b &2 A 25,0003 *8Al 2tx 10 A~ %12 2,400
Ab.=E2x WAl
25,0003 *8Al 2tx 10 A~ %12 2,400
Ot.CIOIHEH A
25,0003 *8Al 2tx 10 A+ 12 2,400
A Ot2 L2t A
25,0003 *8Al 2tx 10 A+ 12 2,400
NN EIR==| BTF
25,0003 *8Al 2tx 10 A+ 12 2,400
HALR X 22 9,645 9,319 326
101 @121l 6,705 6,379 326
04 JI2ZtH22XNEE =+ 6,705 6,379 326
1.838A 34 02Y 6,705
r.olEa2 73,280 /8Al 2t x1H «55A| 2+« 12& 6,046
LE.ATHEE 6,046,000& *0.878% 54
Ch.ns88 6,046,000& *1.65% 100
2. =32 EE 6,046,000& *4.5% 273
0. =201 A38E 6,046,000 *3.43% 208
H LI AEE 208,000& *11.52% 24
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 2,940 2,940 0
01 At 22l 2,940 2,940 0
1.eoZyaeliidse2 230,000& =128 2,760
2EMEI U2
180, 000& * 10 2~ *13] 180
FUEHENHUA SEHEAY 10,000 10,000 0
401 A& HIZ 201 bI 10,000 5,000 5,000
01 A& HI 10,000 5,000 5,000
L2UWSH 2002 (chdtetd], 22s3&)
FO HOAIE EX(H2Y L BS4IX)
10,000, 000& 14 10,000
SADIBFAIE BUl(=2S) 5,000 5,000 0
S AIJIBEAIE FHI 5,000 5,000 0
AZS=2 ANEE FHI 5,000 5,000 0
401 A& HIZ 201 8] 5,000 5,000 0
01 A& HI 5,000 5,000 0
1.A=S ANESE R 5,000,000& » 14! 5,000
HYSAAY (= HE) 914,384 741,012 173,372
el 2 825,917 650, 245 175,672
ol 2| 825,917 650, 245 175,672
101 14 dl 801,197 625,525 175,672
01 2= 801,197 625,525 175,672
(22) 455,278
1.HSH(Y) 85,587
.s% 82,295,000& »1H 82,295
Lt ™ & I 82,295,000 *4% 3,292
2.:gg(129) 369,691
.63(1988) 3,815,600 x2H x12& 91,575
Lh.72(8s =) 2,581,900 3« 12& 92,949
Ct.8=2(728) 2,231,200 x4H x 123 107,098
ct.9=24ss) 1,773,600 «3H 128 63,850
Ot. M <&l 355,470,000 *4% 14,219
(80 =¢) 189,208
1.82=+¢ 369,691,000& *4 . 1%*12 181,888
2. B 2==EIHe =3 7,320
Jb.25E 0] & 130,000 1 =123 1,560
Lt.20 0l &~25E 012t 110,000 1H 128 1,320
Ct. 108 01 &~15 012t 60,0003 »2H » 128 1,440
ct.54 0l &~104 0] 8¢ 50,000& x5 128 3,000
(HAREE) 26,400
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SN s
M M2AHH(2s)
chel: ol gyl CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
1.5+ 2,400
OF Ui Xt 40,000 x2H x 128 960
LEJIEDI S (HFMAE X&)
20,000& *3¥ x12& 720
Ct.2 M X4 60,000& *x1H x12& 720
2.205A8 Y (73858 8)
1,200,000 x2H 10 24,000
(E4222Y) 17,880
1.€822H 17,880
h.s22xY 70,000& x12H x12& 10,080
L. Ol REe 50,000& 3 x12& 1,800
.M =EXNERE 70,000& x5H x12& 4,200
e A S XY RIS
30,000& x5 x12& 1,800
(ZB224Y) 53,621
I EERN
10,952& *34 Al 2tx 122 « 128 53,621
(M-I E24aSE) 58,810
1. 3N Z A Y| 140,000& 13 x12& 21,840
2. @& = JtH| 369,691,000 x1.2/12 36,970
204 = 2 4= A H| 24,720 24,720 0
02 &= & xH| 24,720 24,720 0
1. 832 X4 24,720
ot.52 250,000& x 1 x12& 3,000
Lt.62 165,000& x2H x12& 3,960
Ch.72 155,000& »3Y¥ = 12& 5,580
ct.8~92 145,000& *7H ~12& 12,180
| &2Z&Hl 88,467 90,767 A 2,300
Jl2&Hl 88,467 90,767 N 2,300
201 et Y| 43,307 43,207 100
01 At 22l ] 19,946 19,682 264
(der==24|) 10,274
1. 2NSH2=SH| 300,000 *13H *80% 3,120
2.0HZE2ANREE 100,000& = 12& 1,200
.40 HEH 200, 0003 *3CH x43] 2,400
4. 40" 100, 000& *3CH 13 300
5ZMNESEIEY 50,000 *2CH *13] 100
6.5.x=221X 26,000& x258F A 650
7.02d5HEIELEN 80,000 »15F A 1,200
8.2SAIE X 20,000 x40 A 800
9.01&J7|el=2 20,000& =10~ 12& 240
10.H0IETVAIS 2 22,000& ~12& 264
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SN s
M M2AHH(2s)
erel: Jl= 2| (29 a8)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
(2g9+<) 600
1.9=xa56 60,000& x1¥ «10 600
(Z2dl) 7,488
fol2gesssagalyl
8,000 x64A!x13H x12& 7,488
(d4x2) 1,584
1. 80| 30,000& =20 12& 720
2.3J|8&D] 864
Jb Z=O0IHE (142 E) 18,0002 x12JH & 432
Lh. FOIXXIME (145 E)
18,0002 x2CH x 1200 & 432
02 3824t 23,361 23,525 N 164
(2222 % HA) 19,445
1.28H2 5,070
Jl. Bt 430 10021 12 516
L. S9I1 2,530& *15021 x12& 4,554
2.80|2 950,000 x12& 11,400
3.4 .02 80,000& x12& 960
48 XH AL E 195,000& *13] 195
5. XHEE 1,410
ot SHA XS 410,000& x1CH =13l 410
Lt .S =KX 1,000,000& =1CH =13/ 1,000
6.8IIEAMNEEE 60,000& *2CH 13| 120
7.3ANE LSS (SHE )
130, 000& *1LH 130
8. ASXM(SHEXE) 160
.= EHY 30,000 *1CH*13] 30
L. = E2X &I Xt 130,000& *1CH 13 130
(AIE & HI S XI]) 3,916
1.8 SEY| 100, 000& ~1CH 100
2.B3MNAHAZE R EHI 900,000& * 14! 900
J.HEXNY RFH| 130,000& = 1CH x12& 1,560
4. #HHE XS 2l 100, 000& *2CH *33] 600
5. 20 E0AlAE R X2 £H|
11,0003 x3CH *123] 396
6. NS AAIAE RS X2 £H| 30,000 x12& 360
202 04 dl 34,200 34,200 0
01 2L Y| 7,200 7,200 0
1. =AY 20,000& 10 x3H x12& 7,200
02 240 H| 27,000 27,000 0
1.8 ¥l 225,000& 10 «12& 27,000
203 ¥R =&H| 9,160 9,160 0
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>
A & 0l & AF 2 E A A
20229 = 20la LB JIEISESH DEs ~ ARS
SA: AAE
HE: =0l #N MO TR (MAIS)
el H=XME S CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AA1S 1,137,578 1,144,485 A 6,907
F0 MY EHo SR2(AA1S) 170,700 171,700 A 1,000
HF=FXNHH 2 170,700 171,700 A 1,000
SHEIA 128,360 128,360 0
301 LPEAZF 128,360 128,360 0
05 8% -0 -tH¥ESE4S 128,360 128,360 0
1.88+9 & &3t 126,360
ol 300,000& »27H «12& 97,200
L. &= 300,000& 27 #23| 16,200
Ch.3l o & A =g 20,0003 «27H «23|« 128 12,960
2.8H &g 25,000& »40H »23] 2,000
FOUXNXNMHEZZIH2 25,620 26,620 A 1,000
201 2et2 Y| 25,620 25,620 0
01 At 22l 25,620 25,620 0
(deregyl) 1,620
1.:XXMEH 23l 150,000 122 x90% 1,620
(2e+¢) 24,000
1.FXXMEH A 24,000
Jboteuwa 25,0003 *8Al 2t+128 2,400
Lt. e eHA 25,0003 *8Al 2+ =122 2,400
Ch.oloi2= 25,0003 *x8Al 2t 128 2,400
ch. A2 H = 25,0003 *8Al 2t 128 2,400
Ob. XY Al 25,0003 *x8Al 2t 128 2,400
.= wa 25,0003 x8Al 2+ 12 2,400
A 20t Al 25,000 *8Al 2t x 122 2,400
Ob. M0l & 25,0003 *8Al 2+ x 12 2,400
A SH2 ULt w A 25,000 *8Al 2+ x 122 2,400
A EFuA 25,0003 *8Al 2+ x 12 2,400
AR X 2el 6,720 6,720 0
201 et 6,720 6,720 0
01 At 2teltl 6,720 6,720 0
1.203H === 250,000& 122 3,000
2.BMNEII N2 b=
130,000 10 A+ 123 1,560
3.8V EINBEAUeE =T
180,000& 10 A+ 123 2,160
ZFOIEOI0 & SIS ALY 10,000 10,000 0
401 AIEHI L 20HEI 10,000 10,000 0
01 A& HI 10,000 10,000 0
1.A0LE Os% &X 10,000, 000& 10,000
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2AM:
DZADIBRAIE HHI(AAH1S)

el

X ZH
S =

AHA1S

S AIDIEHAIE EHI

A - ER(EN) - AR - B of & o4 SSa HIDZ2
SAIDIBEAIE FHI(&H2A18) 5,000 5,000 0
SADIBEAIE FH 5,000 5,000 0
A2 ANE=S EH 5,000 5,000 0
401 AlEHIZ R0 8] 5,000 5,000 0
01 Al&HI 5,000 5,000 0
1.423 NEE 2A2e 5,000, 000% 14 5,000
HY2HIH (MA1S) 961,878 967,785 A5,907
ol 2d | 854,118 843,795 10,323
g =gl 854,118 843,795 10,323
101 Q124 H] 823,818 813,615 10,203
01 2= 823,818 813,615 10,203
(23) 574,043
1.esSH0Y) 85,587
h.sF 82,295,000& 1 82,295
Lt X S0 & i 82,295,000& *4% 3,292
2. 22 E(159) 488,456
t.e2(2088) 3,878,100 x3F ~12& 139,612
L.72(1383) 3,033,000 x4E «12& 145,584
tt.s=2(688) 2,042,300 x5F «12& 122,538
2t.92(358) 1,720,400 x3H « 128 61,935
OF. X S JH & i 469,668,000 *4% 18,787
(A=) 49,302
LURsRA+E 1,877
Hea2UR (72265 S)
3,813,400& +4. 1%x12& 1,877
2.832+¢ 488,456,000& *1/12 40,705
3.32xgmtt= 6,720
Jb.254 01 & 130,000 » 18« 122 1,560
Lt.208 01 &f~25E 012t 110,000& 1 »12& 1,320
Lt 15601 &8~20 012t 80,0002 x22H 123 1,920
Ch.10801&f~154 012t 60,0002 1 *12& 720
ch.5E 0l & ~10= 0] 2t 50,0003 x2H x12& 1,200
CHAEd =) 33,720
1.5+ 3,120
b =Xt 40,0003 x3H « 12 1,440
By PE] 20,0003 x1H 12 240
OF.JIEH Dt =F 20,000 x6H x 128 1,440
2.0t s 1,275,000 »2H « 128 30,600
(Ex=22=¢) 24,000
1.5+82+4 24,000
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NERE
HY2AZH (M2H1S)
Jl2&dl
SA BB O () - MM - HES 0l &+ o4 il
Jf. et 4302 *10024 =128 516
L. &1 2,530 x150244 123 4,554
2. 80|l 1,500,000& »12& 18,000
.40t R3 200,000& x12& 2,400
4.8 Exxr2 250,000& x13] 250
501Ul +=28 15,000& 23|« 12& 360
6. s3I SED] 6,000&+12& 72
7.SHIXY 960
I AASUHEEZ 800,000& x1CH x 13 800
L. XbS XHA 100,000& *1CH 13l 100
. 83IIEME 60,0002 x1CH*13] 60
8.XFEH=EXXE 1,390
I AAsSUHEEZ 1,200,000 »1CH*13] 1,200
Lt. Xt S XA 130,000 *1CH x 13l 130
CE8JId A2 60,0002 x1CH*13] 60
(AN & ZHI XL 5,192
1.83MHS 1,500, 000& 1,500
2.2 AtE S D] 100, 000& = 1CH 100
3. LS EH 100, 0002 = 1CH 100
4. 2| 50,000& *2CH 100
5.2 E0AIAE & =Hl 33,0003 *43] 132
6.AZAAANAE & =Hl 30,000&~+12& 360
7.sHEXZE 22l 100,000& = 1CH 33| 300
8.¥FE=XNXEHE = 100, 0002 »1CH 33l 300
9.8HIXYE RFHI 150,000 »1CH 123 1,800
10. 222 (SEA) SBHaH AR
100, 000& *53| 500
202 o4dl 42,300 42,300
01 SLHAOYI 7,200 7,200
1.2 WA 20,0003 «10 x3H 128 7,200
02 A Y| 35,100 35,100
1.8 A0 225,000& *13H «12& 35,100
203 PR =&l 9,820 9,820
01 J22F PR =8I 5,940 5,940
10122 RFE| 6,600,000& »1E x90% 5,940
02 A& ERFXH| 640 640
1.3t F=8 40,0002 x169H 640
04 EAN2IHR2FEHI 3,240 3,240
1.2M2EIRFAH 300, 000& x12& «90% 3,240
204 HR=HAH| 1,800 1,800
01 Mg 1,800 1,800
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N = 0l & At & Ml A

20223 = =0l &k LEEAH L IIEISEA DES ~ I3RS

SN A20s
Mo FOMHBO TR (AHE)
Sel: BHSXNMESY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AH2S 871,344 912,536 AN 41,192
FOMHIEOT R (AAH2E) 133,880 153,880 20,000
HF=FXNHEH2 S 133,880 153,880 220,000
=.Bt& K& 98,280 98,280 0
301 LPEAZF 98,280 98,280 0
05 8% -0 -tH¥ESE4S 98,280 98,280 0
1.88+8 € &3l 98,280
ol 300,000& 21H «12& 75,600
L. &= 300,000& 21 *23| 12,600
Ch.3l o & A =g 20,0003 «21H «23|«12& 10,080
FOUMXNHMHEZOH 29I 23,220 23,220 0
201 €24l 23,220 23,220 0
01 At 22l 23,220 23,220 0
(Zer==gHl) 1,620
1.FB XX EEH==EH 150,000& 122 *90% 1,620
(2g=4¢) 21,600
1. LA 21,600
b AZ=UHA(EZ) 25,000% *8Al2F+122 2,400
Lh AXXHA(SZ) 25,0002#8AI2t«128 2,400
ChAXXWA(LZ) 25,000&*8AI2t+128 2,400
ct.=Ed|3wa 25,000 *8Al 2t x 128 2,400
O &2l (F2h) 25,0003 *8Al 2t 128 2,400
Bh. &R WA (0F2}) 25,0003 *x8Al 2t 128 2,400
Ab. 28 WA 25,0003 x8Al 2+ 12 2,400
OL.CHOIHEH A 25,000 *8Al 2t x 122 2,400
A4.oteuws 25,0003 *8Al 2+ x 12 2,400
AL Rl 2tel 2,380 22,380 220,000
201 Let24d] 2,380 2,380 0
01 At 22/l 2,380 2,380 0
1. R zeltids+=2 180,000 «12& 2,160
2. BNEJIAEH =T
110,000& =1 2 %23 220
FUEHOMU A SEHEAY 10,000 10,000 0
201 ¢et24E] 10,000 10,000 0
01 At 22l 10,000 10,000 0
1. SgEZ30s PERYXN SZAMSE (P NG5 9)
10,000, 000& 10,000
SAIJIBFAIE BHI(&2H2S) 5,000 5,000 0
SADIBAIE | 5,000 5,000 0
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DA RE
DS ADIBALE Rl (A2H2E)
D EADIBFALE R

SH - BAEA) - MRAY - BES Of &t o il

223 NE= EHl 5,000 5,000
401 AIEBIL 2 CHEI 5,000 5,000
01 A€ dl 5,000 5,000

1.423 NE2 s 2el 5,000, 000% * 14 5,000
HHE2HZH (LH2S) 732,464 753,656
el 2 648,400 672,624
eI =gl 648,400 672,624
101 @124 H] 625,420 649,644
01 2=+ 625,420 649,644

(83) 455,944

LesSM0g) 85,587

H.sE 82,295,000& 1 82,295

Lt X < IH & i 82,295,000 *4% 3,292

2. X8 (1Y) 370,357

6= (235 8) 4,047,900 =2 123 97,150

L.72(1288) 2,950,300 x3E x12& 106,211

Ct.8=2(828) 2,322,100 x4F ~12& 111,461

2t.92(388) 1,720,400 x2H « 128 41,290

OF. X S JH & I 356,110, 800& *4% 14,245

(Ao =g) 38,407

1.82=¢ 370,357,000& *1/12 30,864

2.832xdttt= 6,240

Jb.25 0l & 130,000& »2& 122 3,120

L. 15801 &~20 012t 80,0003 1 »12& 960

Ch.108 01 &f~15& 012t 60,0008 3 *12& 2,160

.URSRHA+E 2,647,900& +4 . 1%* 122 1,303

OHAEd ) 8,880

1.t &g 8,880

Jb. B <Xt 40,0003 x5H x12E 2,400

L. DIEHES 20,000 x10H 128 2,400

Ch.2 M A 60,0003 »4H « 12 2,880

ch. AU XA 100,000& »1& x12& 1,200

(Sx=22=+¢) 15,840

1.S4+22ay 15,840

h.s28+% 70,0002 x11H =122 9,240

L. 2R 50,0003 *x3H x12& 1,800

CH AR SR R+Z 70,0003 x4 123 3,360

ch Al SNSRIt 3
30,0003 x4 123 1,440
(zn22+¢ S) 49,153
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SN aZ2E
BH: #HSAPL (AH2S)
erel: Jl= 2| (29 a8)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
L. S0 2,530) x12024 x12& 3,644
2. 80|12 500,000& ~12& 6,000
3. 46t 2 80,000& ~12& 960
4. SENEES S (YIS 50,000& *23] 100
5838 xHaer2 120,000& x 13| 120
6. x=xHALrxE 200,000& 13| 200
7T HEXNHEE = 1,500
b SH A Xt 500,000& *1CH *13] 500
Lt . HSEHESX XS 1,000,000& =1CH *13] 1,000
8. A= XA 80,000 *2CH *13] 160
(HA24l) 1,728
1. AR A 1,350 x4 *4A| 2F%80L 1,728
(NEXHI &2 XH) 4,234
1.8AIHA 2 1,200, 000& 1,200
2.8 AFEH| 100, 000& *2[H 200
3.0 50,000 =1CH 50
4 2OIEQIANAE RANE S
33,000& *2CH x4 3] 264
5. X2 AMAIAE X84
30,000& 10~ 12& 360
6. 22BN REH| 130,000& *12& 1,560
7.3 24| 100, 000& *2CH *33] 600
202 04 d| 31,500 31,500 0
01 2L Y| 7,200 7,200 0
1.2l 20,000& 10 x3H x 128 7,200
02 EHN Y| 24,300 24,300 0
1.2 ¥l 225,000 x9H x12& 24,300
203 & R =&H| 9,120 9,120 0
01 J|22HLRF=AH| 5,940 5,940 0
1.2 29 28| 6,600, 000& 1 x90% 5,940
02 HRJAE R =&Y 480 480 0
1. E3JIMAE 2 F R 40,000& x12Y 480
04 2SI L RF=AH| 2,700 2,700 0
1. 2N2ELERFAH| 250,000 * 122 *90% 2,700
204 = 2 4= A H| 1,800 1,800 0
01 MM S HREHAH| 1,800 1,800 0
1. AMIHRFEH| 1,800
. s 150,000& x 1 x12& 1,800
405 Ko SHI 2,900 0 2,900
01 JHAHY = ZF = b 2,900 0 2,900
1.2=01 01 H Ol 44 7] 2,000,000& = 1CH 2,000
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SA-EB B (BH) - MRAY - B il
A 23| 581,115 583,010
101 2121 d| 559,875 561,770
01 2= 559,875 561,770
(=23) 411,308
1981 01Y) 85,587
.s& 82,295,000 14 82,295
L. H oA Hl 82,295,000 *4% 3,292
2. 2ZE(10¥) 325,721
.63 (262 2) 4,192,000 x2H x12& 100,608
Lh.720988) 2,680,400 x3H x12& 96,495
th.sa2(se) 2,042,300 x3H x12& 73,523
.92 (48 8) 1,773,600& »2H 128 42 567
OF. X S H& I 313,193,000 *4% 12,528
(&0 4=¢) 33,629
1.2 Y 2,165
ot.52 =< 4,398,900& *4 . 1%*12& 2,165
2.8332 x4 325,721,000 x1/12& 27,144
3.832x4Itar3 4,320
JF.25E 0] & 130,000& x 1H x12& 1,560
Lt. 15 0] & ~20H 0] Bt 80,000& 1 x12& 960
Ct.54 0l & ~104 0] BF 50,000& *3H x12& 1,800
(JtHHEE 2 6,000
1.0t52Y 6,000
It Hi < Xt 40,000 x4H x12& 1,920
LE. AWM XA (OIEF &)
20,000 x8H x12& 1,920
Ch.2MAH 60,000& *3H x12& 2,160
(Ex=222H) 13,200
1.Ex82sY 13,200
h.s22+Y 70,0003 x10H x12& 8,400
L ORgsd 50,000& x2H x12& 1,200
CH A SX RS 70,0002 *3H 122 2,520
M EXNERSEIHAZ
30,000 *3H x12& 1,080
(X222 44,685
1A 2 RY
10,952& *34 Al 2tx10H x 128 44,685
(AHIEA S) 51,053
1. 83U Z A 140,000& *11H = 12& 18,480
2.9 &3 0ty| 325,721,000 %1.2/12 32,573
204 X 2 4 A b 21,240 21,240
02 8z 8 x4 21,240 21,240
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SN AZHIE
B #HSAP (AH3S)
chel: ol oyl (el:de)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
1.2 28 XH| 21,240
ot.52 250,000& x1H x12& 3,000
Lt.62 165,000& x2H x12& 3,960
Ch.72 155,000& *3¥ ~12& 5,580
ct.8~9= 145,000& x5 x12& 8,700
Jl=23tl 84,079 82,393 1,686
Jl23Hl 84,079 82,393 1,686
201 Bt A | 44,099 39,761 4,338
01 At 22l bl 20,064 19,826 238
(et424|) 12,408
1. 282984l 300,000& *11H *80% 2,640
2.0HZERANRES 100,000& ~12& 1,200
3.0 EH/EH 200, 0003 *4CH x53] 4,000
4ZpSES  22Y2EX
26,000 » 152 A 390
5.00AdzHNMEZIEELEN
80,000 »10 A 800
6.1l 20,000& 1~ 12& 240
7.9F8J|d3AEH 150,000& * 1 23] 300
8. HAEY 150, 000& *2[H *63] 1,800
9.2AIE X 20,000& *x408f A 800
10. A0l EtvE=Aal 2 (200) 19,800 x12& 238
(dxt2) 720
1. 84J|9X2 30,000& =20 12& 720
(2d9+Y) 600
1. 952856 60,000& x1¥H ~10 600
() 6,336
fol2gesssagalyl
8,000 x6AIx11H x 128 6,336
02 =329l 24,035 19,935 4,100
(B222LHA) 19,553
1.2#82 4,463
JF. Bt 4303 *100H *12& 516
L. S9I 2,530& *13021 x12& 3,947
2.80|2 1,000,000& *12& 12,000
3. 4Gt 2 40,000& =128 480
48 XEHAESLS 150,000& * 13 150
6.3H A Xtef 2,460
I ANsSXHEE = 800,000& *2CH *13] 1,600
Lt. Xk = XHA 130,000& *2CH * 13| 260
Ch. A= x2=2l bl 100, 000& *2CH 33| 600
(A2dl) 1,458
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A & O & A B Ml M
20229 & 20la LS JIEISEEH DES ~ ARS
SN A4S
M 3o #E MO T (A4S
el HESRME 29 (S &2)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
& H4S 898,691 894,439 4,252
=0 #MH Ho ER(A2H4T) 169,598 161,598 8,000
AYSANHE 2E 169,598 161,598 8,000
s.8t8 X 98,280 98,280 0
301 LEIEN = 98,280 98,280 0
06 S8 -0 -t¥Es2d= 98,280 98,280 0
1.88+942SH 98,280
tol2==¢ 300,000& 21 ~12& 75,600
L& = 300,000& 21 »23] 12,600
Ch.alodag 20,0003 x21 %23| x 128 10,080
FURNXNEEH 2208 29 28,020 28,020 0
201 fEt2E | 28,020 28,020 0
01 At 2t 2l bl 28,020 28,020 0
(get=2Hl) 1,620
1.0 XM EH 2SI 150,000 «12& «90% 1,620
(29=¢) 26,400
.UMM 2 A =E 26,400
It A0 WA 25,0003 *8Al 2tx 128 2,400
Lb Xhe A 25,0003 *8Al 2+ x 12 2,400
Ctoteua 25,0003 *8Al 2tx 12 2,400
et.Z2E Ol E=20ua (==t
25,0003 *8Al 2tx12E 2,400
0. ZE Ol E=20ua(s=8E)
25,0003 *8Al 2tx 128 2,400
Bt. <2l & 25,0003 *8Al 2+ x 12 2,400
Ab. 2t 25,0002 +8Al 2+ x 128 2,400
O . Zetel A 25,0003 *8Al 2t+ 128 2,400
A 2el et 25,0002 +8Al 2+ x 128 2,400
xS0l 25,0003 *8Al 2tx 128 2,400
= == 25,0002 *8Al 2+ x 128 2,400
A=A 2e 33,298 25,298 8,000
201 2Bt2 5,298 5,298 0
01 At 22l bl 5,298 5,298 0
.oz 2aeiiids++=2 226,500 ~12& 2,718
2EAMNEIAEY AR
210,000& » 104 & %23 420
.agEaAeIde == 180,000& »12& 2,160
401 Al HIL 2T 28,000 20,000 8,000
01 Al&HI 28,000 20,000 8,000
LBFSTME ALET DA
28,000,000& » 14! 28,000
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2N A4S
[u]

B F0 ¥F MO CQ(MA4E)
el HESRME 29 (S &2)
SN B SH(EA) - NRAY - BAS of & o4 SSa HIDZ2
T SHEHOHE ALY 10,000 10,000 0
401 AIEBIL 2 CHEI 10,000 10,000 0
01 A€ dl 10,000 10,000 0
1.=578& 404 A& &X 10,000,000 *14] 10,000
S AIDIBEAIE FHI(&H248) 5,000 5,000 0
S AIJIEEAIE EHI 5,000 5,000 0
225 ANE= EHl 5,000 5,000 0
401 AIEBI L 2 CHEI 5,000 5,000 0
01 A€ HI 5,000 5,000 0
1.423 NE2 sA2el 5,000,000 * 14 5,000
Y 2HAH (MA4S) 724,093 727,841 A3,748
el 2 640,751 642,631 A 1,880
I =gl 640,751 642,631 A 1,880
101 @124 8] 617,771 619,651 A 1,880
01 2=+ 617,771 619,651 A 1,880
(83) 430,814
TLesSMOg) 85,587
h.sF 82,295,000& 1 82,295
Lt. X < IH & i 82,295,000 *4% 3,292
2. 2328 (1Y) 345,227
t.e2(1853) 3,749,100 «2E »12& 89,979
u.72(s8) 2,478,300 x3F x12& 89,219
Ct.8=(858) 2,322,100 x4 »12& 111,461
2t.92(388) 1,720,400 x2H « 128 41,290
OF. X S JH & I 331,949,000 *4% 13,278
(Ao =g) 36,075
1.2 =E 2,408,800& 4. 1%*12& 1,186
2.832+¢ 345,227,000& *1/12 28,769
.32 +Emtt= 6,120
Jh.20E 0] & ~25E 012t 110,000 »1E 12 1,320
L. 15801 &/~20 012t 80,000 1 »12& 960
Ct. 100l &f~15 012t 60,0003 x2H 123 1,440
ch.5& 0l &~10E 0| &t 50,0008 »4H x12& 2,400
COHHEdE=¢) 28,464
1.5+ 3,120
b =Xt 40,0003 x3F x 128 1,440
Lb R XA (D1 EFDFR I 8t)
20,0003 x7H ~12& 1,680
2.850t s8¢ 1,056,000 x2EH « 12 25,344
(Ex222Y) 18,582
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2N
X ZH -
L= B

el

HE - B (3H) - KISAY - BYS il HImEET
1.5 18,582
Ft.s2f+E 70,0003 x118«128 9,240
Lt QAR R 50,000 »2H =122 1,200
CH AL SXE R 70,0003 x5H 12 4,200
et MBI SXNE RS
30,0003 x5H » 12 1,800
Ot AlIFE BR R =& 2,231,200& =8%* 128 2,142
(z%224+9) 49,153
NEE LRS-
10,9523 34 Al 2t 11H 128 49,153
HEA S) 54,683
1. 835 Al 140,000& =12 128 20,160
2. BEF Ot 345,227,000& x1.2/12 34,523
f=HFH| 22,980 0
02 a2 =4 22,980 0
1. 828Xt 22,980
t.55 250,000& 18 «12& 3,000
Lt.62 165,000& »2H «12& 3,960
.72 155,000 3 x12& 5,580
ct.8~93 145,000& x6H «12& 10,440
83,342 N1,868
83,342 A 1,868
234l 40,622 132
22|l 17,732 120
(fet=&Hl) 9,500
1. 2422l 300,000& = 12H x80% 2,880
2.HHIZHRARES 100,000& «12& 1,200
3.EEHEH 200,000& *4CH +33] 2,400
4. ZetEEHEY 200,000& = 1CH x4J4 23] 1,600
5 MRASMESIIEY 75,000 *10H »23] 150
6.0AAMIAIESIIEY 75,0003 *10H »23 150
7.9180|el2 35,0003 x1CH =13 x 128 420
8.FRSES. =2L¢=SEX 26,0003 «10H A 260
9.0 ZEEMLSES+E X 80,000& 48 A 320
SAREgsSsAE 10,000& =128 120
iz) 720
H=0) 30,0003 *2CH+12& 720
(2g=¢) 600
e = 60,0003 x1&H 10 600
) 6,912
Jlegdsds2as4l
8,000 x6AIx12H 128 6,912
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M2dAH (MH2H4S)
=3
HB - B (3H) - NEAY - BAS O 4t o8 il
02 3524l 22,890 22,878
(ZZ22YLHA) 18,166
1.28Z 3,656
Jb. Bt 430 *1202H4 x12& 620
L. S9I 2,530 100 x12& 3,036
2.80|& 950,000& x12& 11,400
3. 40t = 200,000& x6& 1,200
4 8} XHALELE 250,000& *13] 250
5. ™I Xt XS XA 130,000& *1CH*13] 130
6. &8I EE = 1,000,000& =1CH *13] 1,000
7. HE XSRS XA 30,000& *1CH*13] 30
B.HEXNHEE = 500,000& x1CH*13] 500
(Al & -l S Xdl) 4,724
1.8A2A 2 1,000, 000& 1,000
2. Y S EY| 100, 000 & ~2LH 200
3.2AIE S| 100, 000& *2CH 200
4 2OIEQIAAE S| 2H|
33,000& *2CH *4 3] 264
5. NS AAIAE S X2 £H|
30,000& *1CH+x12& 360
6. HEXNSHANE 60,000 *1CH*13] 60
7. Xt &2l Hl 100, 000& *2CH 33l 600
8. HAXNH R ZHI 150,000& x1CH = 12& 1,800
9. NI X &SI 20,000& 10~ 12& 240
202 044l 31,800 31,800
01 2L Y| 4,800 4,800
1.2 WAl 20,000& x10L x2H x 128 4,800
02 & H0b| 27,000 27,000
1.2 XY 225,000 x10H «12& 27,000
203 ¥R =&t 9,120 9,120
01 J| 2 2SHHRE=XH| 5,940 5,940
1229 2F8Y| 6,600, 000& 1= *90% 5,940
02 JAIJIAMHRFAH| 480 480
1. E3JAMMERFAH| 40,000& x12H 480
04 EANSIE LR F=XH| 2,700 2,700
12N RFEY| 250, 000& *12& *90% 2,700
204 & 2 £~ A H| 1,800 1,800
01 XS RHFH| 1,800 1,800
1. A#MIHR2FE| 1,800
b.s&d 150,000& x1H ~12& 1,800
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N & o & AF & H Al A
20229 = 20la LB JIEISESH DEs ~ ARS
2H: =2E1E
M 3o #E MY CO(2EIS)
el HESRME 29 (S &2)
A - HE B9 (3A) - HRAY - BHYS Ol &+ o4 SSa HmEET
E81s 798,776 797,084 1,692
F0 MY Ho SR(SE1S) 114,436 101,436 13,000
HF=FXNHH 2 114,436 101,436 13,000
=.Bt& K& 70,200 70,200 0
301 LPEAZF 70,200 70,200 0
05 8% -0 -tH¥ESE4S 70,200 70,200 0
1.8 +=gE3H| 70,200
ol 300,000& *15H «x12& 54,000
L. &= 300,000& 15 #23| 9,000
Ch.3l o & A =g 20,0003 x15H 23|« 128 7,200
FUXNXMEYE T2 29 10,896 10,896 0
201 L2l 10,896 10,896 0
01 At 22l 10,896 10,896 0
(get+=&dl) 1,296
1.FE XX EEH2E 120,000& =122 *90% 1,296
(2g9+¢) 9,600
1.FUXX B2 A= 9,600
Jb. MOl WA (SH28H)  25,000% *8Al 2F+ 122 2,400
L. AOlwal (8H28H) 25,0002 *8AI 2+ 12& 2,400
Ct.gAanal 25,0003 *x8Al 2t 128 2,400
ct.ot2 LIt & 25,0003 *x8Al 2t 128 2,400
PN RSN | 23,340 10,340 13,000
201 et 2,340 2,340 0
01 At 22l 2,340 2,340 0
1.2 322+ Z 170,000& =128 2,040
.EMEIE =2 150,000 23| 300
401 Al HIZ 2018 21,000 8,000 13,000
01 A& HI 21,000 8,000 13,000
TEA &= & SHZA 21,000,000& 21,000
FUEHL SEHEAS 10,000 10,000 0
201 Let2d] 10,000 10,000 0
01 At 22l 10,000 10,000 0
THEZT AL 5,000,000& 5,000
2.0t=7 AUFIIHEX AX 5,000,000& 5,000
SADJIBAIE BHI(Z281S) 5,000 5,000 0
S ADIBEAIE FHI 5,000 5,000 0
L2222 ANEE EHl 5,000 5,000 0
401 Al HIZ 201 I 5,000 5,000 0
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2N 281S
M TAJIEIAIE HH(281s)

el SADIBAIE F (ol @)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
01 Al&H| 5,000 5,000 0
1.0238 AlE&2 S22 5,000,000& x 14! 5,000
HEd2APH(2E1s) 679,340 690, 648 A 11,308
olad 2 A Y| 592,218 599,461 NT,243
ol 2A | 592,218 599,461 NT,243
101 2121 4| 570,978 578,221 NT,243
01 E= 570,978 578,221 NT,243
(22) 410,401
1.92H (1Y) 85,587
. s& 82,295,000& *1&H 82,295
LE. H L& I 82,295,000& *4% 3,292
2.232€(10¥) 324,814
.63 (235 =2) 4,047,900 »2H x12& 97,150
Lh.720982) 2,680,400 x3% x12& 96,495
Ct.8z (58 8) 2,042 ,300& x4H x12& 98,031
.92 (3ee) 1,720,400& x1H «12& 20,645
OF. X 20 & 312,319,200 *4% 12,493
(M=) 32,108
1.824¢ 324,814,000 x1/12 27,068
2. 832 GOt 32 5,040
JF.25E 0] & 130,000 x 128 12 1,560
Lt. 1543 0] &~204 O] Bt 80,000& x1H x12& 960
Ch.104 0] Ab~15 0] 2F 60,000& *x1H x12& 720
2t .5% 0] & ~10E 0| B+ 50,000& *3H x12& 1,800
(JtHEE 24 18,422
1.052Y 6,720
OF. Ui S Xt 40,000& x6H x12& 2,880
LE.JIEHFE 20,000& *3¥ x12& 720
Ch. =M AHA 20,000& x4H «12& 960
.= M X4 60,000& *3H x12& 2,160
2.2058 Y 975, 150& x 1H x12& 11,702
(E222E) 14,400
1.5822Y 14,400
h.s22+Y 70,000& *10H x12& 8,400
LI O RY 50,000& x2H x12& 1,200
CH A S X g2 70,000 x4H x12& 3,360
et MBI EXNERSEIHAZ
30,000& x4 «12& 1,440
(Z222Y) 44,685
1A 2R Y
10,9523 *34 Al 2tx10H + 12& 44,685
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2H: =2E1E
H: HM2AAH (BEE1S)
chel: ol gyl CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
(AHlE2d 5) 50,962
1. 2 HZ A 140,000& x11¥ x12& 18,480
2. @& S JtH| 324,814,000 x1.2/12 32,482
204 = 2 4= A H| 21,240 21,240 0]
02 =2 & xH| 21,240 21,240 0
1. 832 X4 21,240
ot.52 250,000 x 18 x12& 3,000
Lt.62 165,000& x2H x12& 3,960
Ch.72 155,000& *3H 128 5,580
ct.8~92 145,000 x5 128 8,700
Jl2&Hl 87,122 91,187 N4, 065
Jl2&H| 87,122 91,187 N4, 065
201 YEr2 Yt 46,842 46,734 108
01 At 22l ] 18,461 18,461 0
(der==24|) 10,805
1. 2NSH=SH| 300,000 *11H «80% 2,640
2.0HZE2ANREE 100,000& = 12& 1,200
3.e150|2 = 20,000 =1L ~6 & 120
401571243 100,000& x4 3] 400
F.E2IHEYH 200, 0003 *4CH *33] 2,400
6. ZEHEH 200,000& *63] 1,200
7.0 ENESEFERN 80,000 6+ A 480
B.FRUSEST2LSEX 26,000 x 128 A 312
9.2MNESEIIEYH 60,000 *2CH *33] 360
10.2AE X 20,000 x508F A 1,000
11.A02]YSE A2 7, 7003 x12& 93
12.8I NS =X 50,000& «12& 600
(dxt2) 720
1. 84J|9XE2 30,000& =20 12& 720
(29 +<) 600
1. 9256 60,000& x1H ~10 600
(Z2Hdl) 6,336
1|2 EZ2ZAHI
8,000 x6Alx11H x12& 6,336
02 33249l 28,381 28,273 108
(BZ222LHA) 20,249
1.2B= 3,449
Jb. Bt 4303 x80H x12& 413
L. S9I 2,530 *1002d x12& 3,036
2.80123 8,460
o . HE =S X HH 430,000 x12& 5,160
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1.:2UXEE ZAE 21,600
b HAAT S 25,0002 *8Al 2+ x 122 2,400
LH.O23tst=20 1 a 25,0003 «8Al 2tx 128 2,400
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HY2IZH (S S) 911,695 17,281
el 2 gl 810,271 18,149
ol 2AY| 810,271 18,149
101 @124l 779,971 18,029
01 2= 779,971 18,029
(22) 562,812
1.¢98H01Y) 85,587
t.=s& 82,295,000& »1H 82,295
Lt X< IH &8I 82,295,000 *4% 3,292
2. M3¢8 (159) 477,225
Jt.e=(1988) 3,815,600 «3H «12& 137,362
Lh.72(10&83) 2,774,400 x4H 123 133,172
Ct.8=2(588) 2,042,300 «6H «12& 147,046
2t.9=2(388) 1,720,400 x2H 123 41,290
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ol 2 A 552,824 591, 142 N 38,318
ol 2 H| 552,824 591, N 38,318
101 2124 d| 531,584 569, N 38,318
01 2 531,584 569, N 38,318
(22) 389,940
1.920 (1Y) 85,587
.s& 82,295,000& »1&H 82,295
L. H L& I 82,295,000& *4% 3,292
2.2Z€(10¥) 304,353
ez (1738) 3,679, 100& »2H x12& 88,299
th.72ase) 2,478,300& x3¥ x12& 89,219
Ct.8z(623) 2,136,600 x2H x12& 51,279
.oz 4se) 1,773,600& »3H 128 63,850
OF. X S0 &I 292,647,000 *4% 11,706
(M2 28,483
2.8332 ¢ 304,353,000 x1/12 25,363
3. 832 xEota 3 3,120
Jb. 154 0 & ~20E O] 80,000& x2H x12& 1,920
Lt.5% 0] & ~10E 0| 50,000& x2H x12& 1,200
(@IF:=RSEN= 5,520
1.052Y 5,520
OF Ui Xt 40,000& *3¥ x 128 1,440
LEJIEIS (R M A E ZE)
20,000& 8 x12& 1,920
Ct.=2 M X4 60,000& *3H x12& 2,160
(E4222Y) 14,040
1.5¢82Y 14,040
h.s22xY 70,000& «10¥ x12& 8,400
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SN TS
B gEeAAY (ACE)
chelr D123l
SA BB O () - MM - HES 0l &+ o4 il
Jf. et 4302 *10024 =128 516
L. &1 2,530& 9524 123 2,885
2. 80|l 450,000 x12& 5,400
.40t R3 250,000& x12& 3,000
4. SANNARS 250,000& »12& 3,000
5 MSAEtHY MABES
100,000& * 100 2 %13 100
6.3 ¥ AL 70,0003 » 14 70
7. SEEAXHE 2,400
FASHEEZ (M)
800,000& x1CH*13] 800
L. ASAHEES(ASESXIY)
1,000,000& = 1CH x 13l 1,000
(DU = Il A== 100,000 = 1CH 23] 200
ct. Xt = XAl 100, 000& *2CH =13l 200
O EJIE M8 100,000 = 1CH 23] 200
(S12Hl) 255
1 ALR A 850& *300L 255
(AN & ZHI S 4,224
1.3 AH SR A 700,000& 700
2.3 R FHI 150,000& = 1CH » 128 1,800
3.5 X2l 100,000 »2CH 33| 600
4. &8 &EH F X 22l 100, 000& +5CH *13] 500
5. 2C1 S0l Al AR X E 4l
33,000& *2CH 43| 264
6. AN ZUAAMAAR KA E4H 30,0003 *122 360
202 4 HI 29,100 29,100
01 ZLHO0i b 4,800 4,800
1.2 HI 20,0003 x 10 x2H x 128 4,800
02 X 24,300 24,300
1.8 AN 225,000& x9H «12& 24,300
203 PR =&l 9,080 9,080
01 J22F PR =8| 5,940 5,940
1122 gRFE| 6,600,000& »1E x90% 5,940
02 Rt YR E Y| 440 440
BV EES] 40,0008 * 112 440
04 EAN2IHR2F=EHI 2,700 2,700
1.2EM2EYRFEH 250,000& * 128 x90% 2,700
204 2R F | 1,800 1,800
01 ¥R 1,800 1,800
1. A#SHE =AY 1,800
s 150,000 x1H x12& 1,800
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N = 0l & At & Ml A

20223 = =0l &k LEEAH L IIEISEA DES ~ I3RS

2AM: PHE0S
B x0 #E MO CQ(LEEOE)

& HAEERNCUE 23 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
SPHEOIS 1,571,991 1,576,571 A 4,580
0 Y HO T R(RENZT0FS) 328,173 320,228 7,945
HF=FXNHH 2 328,173 320,228 7,945

SHEIA 262,080 262,080 0
301 LPEAZF 262,080 262,080 0
05 8% -0 -tH¥ESE4S 262,080 262,080 0

1.88+8 € &3l 262,080
FIlE=g 300,000& 56K x12& 201,600
L. &= 300,000& 569 *23| 33,600
Ch.3lo =% 20,0003 *56H 23| x12& 26,880

FOUXNXHEZEZ2IH2H 25,620 33,250 AT,630
201 L2l 25,620 25,620 0
01 At 22l 25,620 25,620 0

(get+=&dl) 1,620
1.FE XX EEH2E 150,000& 122 *90% 1,620
(2g9+¢) 24,000
1. LA 24,000
Jt.&tE M 0ll 25,0003 *x8Al 2t 128 2,400
Lot uwa 25,0003 *8Al 2+ x 12 2,400
CHAZXHA 25,0003 *x8Al 2t 128 2,400
ct.2ItwA 25,0003 *x8Al 2t 128 2,400

O JISH = 25,0003 *8Al 2t 128 2,400

.8t =201 na(=32) 25,0002 *8AI2Hx12& 2,400

AL BF2HRA(E2) 25,0002 *8AI2t«122 2,400
OL. =018 3t 25,000 *8Al 2t x 122 2,400

A @3telltwa 25,0003 *8Al 2+ x 12 2,400
22w 25,0003 *x8Al 2t 128 2,400

EANRX 22 31,473 19,898 11,575
101 124 dl 6,705 0 6,705
04 D12t Z2XREES 6,705 0 6,705

1.SEAMN B4 0=2Y 6,705
Jb.OI2=2 73,2803 /8AI 2 x1H «55A| 2+ 128 6,046
L. &THEE 6,046,000& *0.878% 54
.02 6,046,000& *1.65% 100
ct.I2LHSBER 6,046,000& x4.5% 273
0. ZeALBEER 6,046,000& %3.43% 208
H. Sl @I AEE= 208,000& x11.52% 24
201 LBH2I | 10,168 9,048 1,120
01 At 22l 10,168 9,048 1,120
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EX: 2EHXEOS
M 30 #E MO TQ(REEO0E)
el H=XME S CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
IENETEDNEEYY]
200,000 *3 A~ ~12& 7,200
2EHMEIIGHUB 42
120, 000& 3 A x23| 720
J.agtdA2Ae| L2
154,000 1) A %x123] 1,848
4 FOIAHAIE 2] & SHHEXE B4
400,000 =14l 400
401 AlEHIZL 2 0HY| 14,600 10,850 3,750
01 A& H| 14,600 10,850 3,750
1. 2024 AS2A 14,600,000 * 1Al 14,600
FOEHAHAN SETHEAY 9,000 5,000 4,000
401 AlEHIZL £ 0HY| 9,000 5,000 4,000
01 Al&H| 9,000 5,000 4,000
1. AOQEODs2 AR 9,000,000 =14l 9,000
T AIDIBHAIE HU|I(PEHZO0IS) 5,000 5,000 0
S AIDJIBHAl A & H| 5,000 5,000 0
235 AMNAES H| 5,000 5,000 0
401 AlEHIZL 2 0HY| 5,000 5,000 0
01 Al&H| 5,000 5,000 0
1. 0832 AMNAEs A2 5,000,000 =14l 5,000
HHSHAAY (REHX0IS) 1,238,818 1,251,343 N 12,525
ol 2 A Y| 1,090,832 1,106,508 N 15,676
ol A | 1,090,832 1,106,508 N 15,676
101 Q121 H] 1,051,472 1,067,268 N 15,796
01 2= 1,051,472 1,067,268 N 15,796
(23) 741,404
1.2/ (1Y) 85,587
.s& 82,295,000& *x1H 82,295
LE. XS4 HI 82,295,000 4% 3,292
2.8 28 (20H) 655,817
.62 (255 2) 4,146,600 »3H x12& 149,278
Lt.72 (125 2) 2,950,300 x7H x12& 247,826
t.sa2(b=s=) 2,042,300 7 x12& 171,554
2t.9=2(3s =) 1,720,400& 3« 12& 61,935
OF. X S K & HI 630,591,000& *4% 25,224
(A0 4=%) 67,977
1.2 655,817,000 «1/12 54,652
2. 82 IIA2 11,400
JF.25E 0] & 130,000 4% « 12 6,240
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2N
X ZH -
L= B

el

ro o2 4
oA @

M0 MO FA

02 02 R

0 O

=5

SA - BB B (BA) - MM - BHES Ol &+ o4 il 2
Lt. 15501 &~20E9 012t 80,0002 *1H x12& 960
Ct.5 01 &~104 0] B¢ 50,000& x7H «12& 4,200
. HeERE =+ 1,925
. e=sUR (72308 S)
,911,6002 *4. 1%* 1« 128 1,925
OHHzdE2d) 21,620
1.5 5,280
Jb. B Xt 40,0003 x4H 128 1,920
Lt . JIEFDLS 20,0003 x 118 «128 2,640
Ct. =M XA 60,0003 x1&H «128 720
2. 2052 +E 2,723,2003 «2F «50%+6 & 16,340
(Ex22=+¢) 30,240
1.S4+824g 30,240
Ft.sz2f=¢ 70,0003 x20H x 128 16,800
L. Agese 50,0003 x7H «128 4,200
ChASI2Xg R 70,0003 x8H 128 6,720
ch ASI S XY RIS
30,0003 x7H =128 2,520
(=224 89,369
1A 2R+
10,9523 #34 Al 2t+20H « 128 89,369
(AHl24 5) 100,862
1. 3 Mz Al 140,000& »21H «12& 35,280
2. BEF Ot 655,817,000& *1.2/12 65,582
204 AR HH| 39,360 39,240 120
02 2g 2 Xl 39,360 39,240 120
1. 222 = 39,360
t.53 250,000& 18 «12& 3,000
Lt.62 165,000& x3H 123 5,940
ot.72 155,000& 7H 128 13,020
ct.8~93 145,000 10H »12& 17,400
=3l 147,986 144,835 3,151
JlE2&l 147,986 144,835 3,151
201 LBH2EH| 74,156 73,258 898
01 At 22l 34,661 33,896 765
(ger24ddl) 19,805
1. 24 A2 =2l 300, 000& 21 «80% 5,040
2.HHIZERARES 100,000& »12& 1,200
JLHEHEU/SE(HE2AEE)
200,000& x10CH 43 8,000
4.0180|el2 20,0003 33| x12& 720
b.FUsESE=2EX 26,0002 20 A 520
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fAM: PHXEOS
= HER2IIAU(RPHZOS)
Sl =B CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
8. ANZAAMAIAEKFAIE I
30,0003 44123 1,440
202 O4dl 54,900 54,900 0
01 = LH 4 Hi 14,400 14,400 0
1.2 Yl 20,0003 «10L «6H «12& 14,400
02 FHOHI 40,500 40,500 0
1. 2H0 225,000& x15H « 123 40,500
203 YR =&l 11,730 11,730 0
01 J122E =4 7,110 7,110 0
11222 gRF8| 7,900,000 * 1= x90% 7,110
02 It =2 840 840 0
1. 23] E =L 40,000& *21H 840
04 RENSELR=LH 3,780 3,780 0
1.2M2EYRFEH 350,000& *12& x90% 3,780
204 AR A H| 1,800 1,800 0
01 ¥R A 1,800 1,800 0
1AM 3P FTH| 1,800
s 150,000& x1H + 123 1,800
405 XHoHF S HI 5,400 3,147 2,253
01 AL EZFH S 5,400 3,147 2,253
1. 288 ot 300,000& =184 5,400
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N = 0l & At & Ml A

A LB H DIEISEI A D8S ~ 2RS

20228 & 20

2AH: 22S
M ZOl#E BT D(REE)
S WISXNME 2 (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
H4=2S 1,585,859 1,567,881 17,978
U HOAT D (22 S) 312,500 317,500 25,000
HF=FXNHH 2 312,500 317,500 A5,000
sHE & 271,440 271,440 0
301 LPEAZF 271,440 271,440 0
05 8% -0 -tH¥ESE4S 271,440 271,440 0
1.88+9 & &3t 271,440
FIlE=g 300,000 x58H «12& 208,800
L. &= 300, 0003 58 #23| 34,800
Ch.3l o & A =g 20,0003 «58H «23|«12& 27,840
FOUXXEH 2208 29 25,620 25,620 0
201 €24l 25,620 25,620 0
01 At 22l 25,620 25,620 0
(Zer==gHl) 1,620
1.FE XX EEH2E 150,000& 122 *90% 1,620
(2g=4¢) 24,000
1.:2UXEE ZAE 24,000
JbAELXHA(A) 25,0002 *8Al 2+ x 122 2,400
Lt.St2 LIt 25,0003 *8Al 2+ x 12 2,400
Ch.=28013 25,0003 *8Al 2+ =122 2,400
cet.22=0l 25,0003 *x8Al 2t 128 2,400
Ot A 25,0003 x8Al 2+ 12 2,400
HH. A2 ML 2IotwA
25,0003 *x8Al 2t+12& 2,400
AL Bt =0n A 25,000 *8Al 2t x 122 2,400
Ot.23telttw & 25,0003 x8Al 2+ 12 2,400
.22l ekl (A) 25,0002 *8Al 2t x 122 2,400
.22l ekl (B) 25,0003 *8Al 2t 128 2,400
EANFX 22 10,440 10,440 0
201 Let24d| 10,440 10,440 0
01 A2 22l 10,440 10,440 0
1.2 30 H#+=+== 180,000 *3H 21200 & 6,480
2NN Y2
110,000 *34 & 124 & 3,960
FUEHOMU A SEHEAY 5,000 10,000 A5,000
401 Al HI L =TI 5,000 10,000 25,000
01 A& HI 5,000 10,000 A5,000
1.=00dE W A22220101 &X 5,000,000 5,000
SADJIBAIE BH(ZES) 5,000 5,000 0




2N
X ZH -
L= B

el

e
CADIBAIE HHI(BRS)
SAIDIEHAIE HHI

A - ER(EN) - AR - B of & o4 SSa HIDZ2
S AIJIEEAIE EHI 5,000 5,000 0
225 NE= EHl 5,000 5,000 0
401 AIEHIZ 2 I 5,000 5,000 0
01 A€ dl 5,000 5,000 0
1.423 NE2 2A2el 5,000, 000% 14 5,000
M2 (R2E) 1,268,359 1,245,381 22,978
el 2| 1,110,026 1,092,215 17,811
g =gl 1,110,026 1,092,215 17,811
101 Q124 4] 1,068,806 1,051,115 17,691
012+ 1,068,806 1,051,115 17,691
(=3) 759,802
1.e8SH(1Y) 85,587
s 82,295,000& 1 82,295
LE. X <K & i 82,295,000& *4% 3,292
2.8z 8 (21Y) 674,215
.62 (208 8) 3,878,100 x4F ~12& 186,149
L.72(10&8s) 2,774,400 x6E «12& 199,757
Ct.8= (55 3) 2,042,300 «8H ~12& 196,061
2t.9=2(688) 1,842,100 x3H « 128 66,316
OF. X S 4 & I 648,282,000 *4% 25,932
(Ao =2) 66,145
1.82+¢ 674,215,000& *1/12 56,185
2. 82 +gdt= 9,960
Jb.25 0l & 130,000 2 x12& 3,120
Lt.20E 0l &8 ~252 0] 2t 0 0
Ch.158 01 &/~20 012t 80,000& =3 »12& 2,880
ch. 10801 &f~15E 012t 60,0003 3 »12& 2,160
0.5 0l &~10E 0] 2t 50,0003 x3H x12E 1,800
OH28d+¢) 11,760
1.5+ 11,760
Jb. B <Xt 40,000 =10« 12& 4,800
LEOIER P S (R X Z &)
20,000& x14H 128 3,360
Ct.EM X4 60,0003 x5 x12& 3,600
(Ex222+E) 32,880
1.5=82%¢ 32,880
h.s22=+HE 70,000 *x21H «12& 17,640
L. 22 Rg 50,0003 x6F 128 3,600
Ch AR SXAER+=E 70,0008 +108 +128 8,400
ch AR SRR +Eote 3
30,0003 x9H x12E 3,240
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SN B2S
B #NLARY (BLS)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
(ZU222Y S) 93,837
1A 2 RY
10,952& *34 Al 2tx21H x 128 93,837
(Algl2aS) 104,382
1. 3 ZAH| 140,000 x22H = 12& 36,960
2.9 E S JtH| 674,215,000 x1.2/12 67,422
204 &R = A Y| 41,220 41,100 120
02 8z 8 X4 41,220 41,100 120
1.8 322 X4 41,220
ot.52 250,000& x1H x12& 3,000
Ll.62 165,000& x4 x12& 7,920
Ct.72 155,000 *6H 12& 11,160
cl.8~9= 145,000& « 118 x12& 19,140
Jl=3tl 158,333 153, 166 5,167
JlE2343Hl 158,333 153, 166 5,167
201 Bt A H| 82,758 75,346 7,412
01 At 22l ] 38,592 35,152 3,440
(Let==2H|) 22,200
1. 28289 +8H| 300, 0003 *22H *80% 5,280
2.0 HIZERAIRES  100,000& 1 A x128 1,200
3.052H EH/E™H 200,000& *7CH *63] 8,400
4 015D 22 15,000 *3J = 12& 540
5.01&50] Ad3AEH 120,000& 304 23| 720
6.FUSEST2ENX 26,000 *202F A 520
7.00ds5HeZ X 80,000 »158F A 1,200
8.2AE Xl 20,000 *90& A 1,800
9.2AMNESED EYH 80,000& *3CH *x33] 720
10.5 A0 EH 120,000& *1CH *63] 720
M HMEIIAUAHAAMYE SAEH|
75,000& *43] 300
12.=9J 21X 100, 000& *83] 800
(dxt2) 3,120
1.82X9 sds72LEH SEUH IS
300,000& 23] 600
2.8L0|UX 2 30,000& *4CHx12& 1,440
3.3J|1&HI| Lxt 30,000& *3CH x12& 1,080
(2d4aY) 600
1.2 =25 60,000& *1H x10L 600
(Sl) 12,672
1JI2gR+HE 2 S A HI
8,000& x64 x22H x12& 12,672
02 35244l 44,166 40,194 3,972
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2N RES
M HHR2IZH(ZES)
chelr D123l
SA BB O () - MM - HES 0l &+ o4 il
(B223LHA) 35,184
1.ERZI 17,244
Jb. et 430 *40024 x 128 2,064
L. &1 2,530& *50024 x12& 15,180
2.¥J1e2 (2422 850,000& »12& 10,200
.U ERI(2LAEE) 150,000& »12& 1,800
4. 83X ALE 80,000& x13] 80
5. 383X 1,940
I AASUHEEZ 750,000& 13| x2CH 1,500
L. 23eee3 65,000 *23| 130
Ct. Xt = XHAl 100, 000& * 13| =2CH 200
et BIIZA =2 55,000& » 13| »2CH 110
6. AYMESH = bl 320,000& * 13| 320
7.25 &4 Lekatelyl 300,000& »12& 3,600
(e12Hl) 1,200
1LARA(ER 200,000 x6 & 1,200
(AEEHI KXYl 7,782
1. 83AHE 850,000& 850
2. HFL S I 200,000& = 1CH 200
3.2 A& S| 100, 0002 *3CH 300
4. 8320 &5 30,0002 x12& 360
5. sd#EXE SFHI 200,000 = 1CH*12& 2,400
6.=HEXS MIISAHl 50,0002 «1CH=12& 600
7.sHEXZE =2l 100, 000& *2CH *33l 600
8.2=J| ®X2elll 100, 000& *6CH 600
9. Z20QIS0IAAE R EH|
33,0003 x6CH 43 792
10. X2 A AAAE R E
30,0003 «3CH*12& 1,080
202 o4dl 57,600 57,600
01 = LHO Y] 14,400 14,400
1.2 WA 20,0003 102 x6H «12& 14,400
02 A0 43,200 43,200
1.8 A0 225,000& x16H «12& 43,200
203 PR =&l 11,770 11,770
0 J22F PR =8I 7,110 7,110
1122 PR FEH| 7,900,000 * 1= *90% 7,110
02 F3AItAERFXH| 880 880
1.3t RF=8l 40,000 x22H 880
04 EAN2IHR2FEHI 3,780 3,780
1.2M2EYRFEH 350, 000& x12& «90% 3,780
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= o
A & 0l & AF 2 E A A
20229 = 20la LB JIEISESH DEs ~ ARS
2M: HEIS
M =0l 8N MO TR (HHAIS)
el H=XME S CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
BHE1s 1,049,926 1,075,629 A25,703
F0 MY HO SR(EHE1S) 190,600 195,042 AN4,442
HF=FXNHH 2 190,600 195,042 A4 442
SHEIA 145,080 149,760 A 4,680
301 LPEAZF 145,080 149,760 A 4,680
05 8% -0 -tH¥ESE4S 145,080 149,760 A 4,680
1.88+8 € &3l 145,080
FIlE=g 300,000&*31H «x12& 111,600
L. &= 300,000& 31 #23| 18,600
Ch.3l o & A =g 20,0003 «31H «23|« 128 14,880
FOUNXNEMHEZ OS2I 32,820 32,990 A170
201 €24l 32,820 32,990 A170
01 At 22l 32,820 32,990 A170
(get+=&dl) 1,620
1.FB XX EEH==EH 150,000& 122 *90% 1,620
(2g9+¢) 31,200
1.FUXX B2 A= 31,200
b AZ=UHA(EZ) 25,000% *8Al2F+122 2,400
L 25,0003 *8Al 2t+128 2,400
(BUE=SY= PO NG/ mES 25,0003 *8Al 2+ =122 2,400
== PN/ pmES 25,000 *8Al 2t x 128 2,400
Oh. 8= 25,0003 x8Al 2+ 12 2,400
=] PN D ESSmES 25,0003 *x8Al 2t 128 2,400
AL OFHE R WA (ET)
25,0003 *x8Al 2t 128 2,400
Ob. O E R WA(EF)
25,000 *8Al 2+ x 122 2,400
A HAATZX(ZZ) 25,0002 *8AI2H«122 2,400
OBt A (x=3) 25,0002 *8Al 2+« 122 2,400
JtIJIEtRA(EZ) 25,0003 *8Al 2t 128 2,400
Et.zZ8eldetml 25,0002 *8Al 2+ x 122 2,400
ot. 23tel Lt 25,0003 *8Al 2+ * 12 2,400
AL Rl 2tel 2,700 2,292 408
201 2et24d] 2,700 2,292 408
01 At 2teltl 2,700 2,292 408
1.2o 3 el 200,000& 122 2,400
2HMAHBAHH 42
150,000& *1JH £ %23 300
FUEHOMU A SEHEAY 10,000 10,000 0
401 A& H L 20 bl 5,000 10,000 A5,000
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2N BHE1S
M =0l 8N MO TR (HHAIS)
Chelr BM=XME 29 (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 Al&H| 5,000 10,000 A5,000
1.0} 6+ % o3 XSIX LA
5,000,000 =14l 5,000
405 XHA&HF S HI 5,000 0 5,000
01 XA 2 ZF S| 5,000 0 5,000
1.8 HE=2XNHEH W E4=HD| € AX
5,000,000 =14l 5,000
T AIDJIBHAIE HU|I(EHE1S) 5,000 5,000 0
T AIJIBHAIE & H| 5,000 5,000 0
A2S ANAEE HH| 5,000 5,000 0
401 Al HI L 2 0HHI 5,000 5,000 0
01 Al& H| 5,000 5,000 0]
1.082 A= A2 5,000,000 =14l 5,000
HELS2AAH (EHE1S) 854,326 875,587 N21,261
oA 2HH| 757,265 772,196 AN 14,931
oled A | 757,265 772,196 A 14,931
101 e1214| 728,825 743,876 A 15,051
01 E% 728,825 743,876 A 15,051
(23) 525,902
1.92 /(1Y) 85,587
. s& 82,295,000 x1H 82,295
L. HRHA 82,295,000 x4% 3,292
2. 8328 (149 440,315
Jt.62 (25 4,146,600 »2H x12& 99,519
uH.737se) 2,478,300 x5 x12& 148,698
t.ea2(7s=2) 2,231,200& x5 x12& 133,872
.92 (3sE) 1,720,400& x2H «12& 41,290
OF. X S I & HI 423,379,000 *4% 16,936
(M) 43,413
2.82E 440,315,000 x1/12 36,693
3.2 SO 6,720
JF.25E O] &k 130,000& x1H ~12& 1,560
L. 158 0] &~ 80,000& 1 x12& 960
Ch.5E 0] &b~ 50,000& *x7H x12& 4,200
(JHAHEBES=E) 6,960
1.05¢ 6,960
OF. 8B Xt 40,000& x5H x12& 2,400
L OIEDIS (M A Z8h)
20,000 »8H x12& 1,920
Ct.EMA4E 60,000& »2H x12& 1,440
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2N
X ZH -
L= B

el

HB - B (3H) - NEAY - BAS O 4t o8 il
Ch. AR XA 100,000& *»1H x12& 1,200
(E4222Y) 20,760
1.E2224 20,760
h.s22xY 70,0003 x14H x12& 11,760
L. DI RSEE 50,000& *3H x12& 1,800
Ch AL =X E S 70,000& x6H x12& 5,040
IINCEMEERR=S I
30,000& x6H x12& 2,160
(ZB2249) 62,558
IS EEES
10,952& *34 Al 2tx 142 « 128 62,558
(AHBA E) 69,232
1. 2 HZAH| 140,000& x15Y¥ x12& 25,200
2. @& S JtH| 440,315,000 x1.2/12 44,032
204 D248 AY| 28,440
02 &= &2 xH| 28,440
1.8 382 XH| 28,440
ot.52 250,000& x1H = 12& 3,000
Lt.62 165,000& x2H «12& 3,960
Ch.72 155,000& x5 = 12& 9,300
ct.8~92 145,000& *7H ~12& 12,180
| &4l 97,061
Jl 2 &H| 97,061
201 Bt A | 43,821
01 At 22l ] 21,481
(det==2Hl|) 12,241
1. 2NSH5=SH| 300,000 *15H *80% 3,600
2.0HHZYERANRES 100,000& *12& 1,200
J.E2HEH/EHP2 Y 200,000& *5CH *33] 3,000
4. 2DANESIEHRLY 150,000 *2[H 33| 900
.10l 2| 16,0002 x2J 128 384
g.oldsHMqEZE X2 LHI
80,000 »128r A 960
7.0 ESESxz2e2aE 7Y
26,000 x248F A 624
8.2AIE X 20,000& 408 A 800
9. 8LD|UX = 30,000& =20 12& 720
10.HO0ISTVAIES 2 4 40028 x12€ 53
(2d4aY) 600
1.2 =A% 60,000& x1¥H 10 600
(Z&kl) 8,640
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24 BHEIS
M HH2IALH(HE1S)

@2 Jl2&tl (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
IPIEEEE RN
8,000& x6AI x15H x12& 8,640
02 3524l 22,340 22,153 187
(ZZ22YLHA) 17,784
1.28R= 9,624
Jb. 8t 4303 10021 x12& 516
L. S9I 2,530& #3004 x12& 9,108
2.M46l=ER22 60,000& x12& 720
3.87|22 450,000& x12& 5,400
4. H}XHAE 170,000& x13] 170
5323 MAQHYUANES 15,0003 x12& 180
. HEXNHEE = 470,000& *1CH*13] 470
7.AEE=EANNEEES
1,000,000 x1CH*13] 1,000
B.HAEXNHAHANE 60,000& *1CH*13] 60
9. HE Xt XS XA 30,000 *1CH*13] 30
10.UYSE 2NN XS XS A
130,000& *1CH*x13] 130
(Al & -l S Xdl) 4,556
1.3AH 2 1,000,000& 1,000
2.2 ANEED] 200, 000& = 10H 200
3. HE Y S EYI 100,000& = 1CH 100
4.2 7| 50,000& =2CH 100
5.2 Q1 StoIAlAE 33,000& *3CH x4 3] 396
6. X201 A Al A& 30,000& *1CHx12& 360
7. HE NS R ZHI 150,000 x1CH=12& 1,800
8.3 A Xt &F =2l Hl 100, 000& *2[H *33] 600
202 (4] 39,600 39,600 0
01 2LHO HI 7,200 7,200 0
1.2 WAl 20,000 10 x3H x 128 7,200
02 EHN Y| 32,400 32,400 0
1.2 XY 225,000& *12H «12& 32,400
203 g R =&H| 9,240 9,240 0
01 J|22HLRF=AH| 5,940 5,940 0
10|22 R =48] 6,600, 000& * 1 x90% 5,940
02 RIS R = XIH]| 600 600 0
1. 33N HRFEY| 40,000& =154 600
04 EANSHLRF=AH| 2,700 2,700 0
1. 2N2EYERFAH] 250,000& =122 *90% 2,700
204 Z 24| 1,800 1,800 0
01 MM R-HAY| 1,800 1,800 0
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2N
X ZH -
L= B

el

SRSRES
HE2AZH(HE1S)
Jl=23tl

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
IEEEETES 1,800
s 150,000& 1H 128 1,800
405 XHobF S HI 2,600 9,170 26,570
01 AR ESFH S 2,600 9,170 26,570
1.81994 A 2,600,000 = 1CH 2,600
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N = 0l & At & Ml A

2022 & =20 A LBHSH L IIEIEEEH DES ~ 2RSS
2N BHN2S
M =0l 8N MO T2 (EIM2S)
el H=XME S (S &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
EH&2S 1,141,821 1,144,831 N 3,010
F0l A EO TR (EHE2S) 231,757 211,848 19,909
HEEXNLMEH 29 231,757 211,848 19,909
SeHAX 173,160 173, 160 0
301 et A =2 173,160 173, 160 0
0B SHE -0 -EHEESEMN= 173,160 173, 160 0
1. S8 LESH| 173,160
toll2s¢ 300,000 »37H x12& 133,200
L. &= 300,000 *37H *23| 22,200
Ch.3lo &8 20,0003 378 x23| 128 17,760
FOXXNAMHEZZOH 24 25,620 25,620 0
201 Bt 4d9H]| 25,620 25,620 0
01 AP 22| H| 25,620 25,620 0
(det==24|) 1,620
1.FUXNXHE S2FH| 150,000 12 *90% 1,620
(2d+Y) 24,000
1.ZF0XNXAE Z2A =E 24,000
b e WAl 25,0003 «8A| 2tx12& 2,400
LbAZXUA(ZZ) 25,0002 +8Al 2H+12€ 2,400
ChAZXHA(ZSZ) 25,0002 *8Al2t+122 2,400
CtAZUA(DZ) 25,0002 «8Al2H+12€ 2,400
0. QJOtw Al (22 I8
25,0002 «8A| 2tx12€ 2,400
Hh . QI WA (IR R JtEH)
25,0003 *8A| 2tx12& 2,400
A AEYE DA 25,000 «8A| 2tx12& 2,400
O JtuWA! 25,000& «8A| 2tx12& 2,400
A EHE DA 25,0002 «8A| 2tx12& 2,400
. DELEE 25,000& «8A| 2tx12& 2,400
HAF X222 22,977 8,868 14,109
101 2121 H] 6,705 6,376 329
04 JI2ZtHIZ2 2 NEE S 6,705 6,376 329
(SEAL 24 20829) 6,705
1.204 73,2802 /8AI 2t x1H «55A| 2tx 122 6,046
2. 108882 6,046,000 *1.65% 100
S.MMESE = 6,046,0002 *0.878% 54
4. 202 EE = 6,046,000 *4 .5% 273
5. 200HAUEE=S 6,046,000 *3.43% 208
6. L AIQLUABE2 207,0002 *11.52% 24
201 gEt24Ay| 2,492 2,492 0




2AM: HAE2S
M =0l 8N MO T2 (EIM2S)
el H=XME S CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 2,492 2,492 0
.22 2eltd 166,000 =123 1,992
2. 8AED] HHEH 250,000& »23] 500
401 Al HI K 201 I 13,780 0 13,780
01 A& HI 13,780 0 13,780
1LEHN2E EAL & LT A 13,780,000& 13,780
FUENHMA SEHEAY 10,000 4,200 5,800
401 Al HIZ 201 Y] 10,000 4,200 5,800
01 A& HI 10,000 4,200 5,800
1.22 03 =X X EX £
10,000, 000& * 12X 10,000
SAIJIBFAIE BHI(BHE2S) 5,000 5,000 0
S AIDIBEAIE EHI 5,000 5,000 0
L2232 ANES 5,000 5,000 0
401 AIEHIZL 2CHEI 5,000 5,000 0
01 A& Hl 5,000 5,000 0
1.ASS ANEE A2 5,000,000& » 14! 5,000
HY2FZHI (HHE2S) 905,064 927,983 A22,919
ol 2 gl 802,882 824,578 A21,696
ol 2AH| 802,882 824,578 A21,696
101 1A dl 772,582 794,278 A21,696
01 2= 772,582 794,278 A21,696
(22) 552,714
1.¢98HM01Y) 85,587
t.s& 82,295,000& »1H 82,295
Lt X< IH&HI 82,295,000 *4% 3,292
2. 838 (15Y) 467,127
t.e=(22s8) 3,994,800 3« 12& 143,813
Lh.72(788) 2,478,300 x4H x 123 118,959
Ct.e=(5&=) 2,042,300 «5H «12& 122,538
et.9=2 (45 8) 1,773,600 x3H 123 63,850
Ot. M <&l 449,159,000 *4% 17,967
(840 +=¢) 47,328
1.82=+% 467,127,000 «1/12 38,928
2. 82=Ett= 8,400
Jb. 254801 & 130,000& x2H x12& 3,120
Lt.20E 01 &~25 012 110,000 » 1H » 128 1,320
Ct. 15501 &~204 012t 80,000& «1H 122 960
ch.5 0l &~10E 0| 2t 50,000 x5 « 122 3,000
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2N EHAN2S

M. HMSAAH (EHE2S)
chel: ol gyl CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
(HAHBEE=E) 8,880
1.052Y 8,880
Jb . Hi < Xt 40,000 x5 x12& 2,400
LE. JIEHDFE 20,0003 x16H x12& 3,840
Ct.2 M X4 60,000& x2H x12& 1,440
[ NI E| 100,000& x1H ~12& 1,200
(Ex222Y) 23,040
1.Ex82Y 23,040
h.s22+xY 70,000& 15 x12& 12,600
L. Ot 50,000& x4 x 128 2,400
CHAISI SRR 70,000& x7H x 128 5,880
M EXNERSEIHAZ
30,0002 x6H x12& 2,160
(ZB224Y) 67,027
ISR
10,952& *34 Al 2tx156H x 128 67,027
(AlHI2a S) 73,593
1. 83 HZAH| 140,000& x16H = 12& 26,880
2.9 &E S JtH| 467,127 ,000& x1.2/12 46,713
204 &2 = A H| 30,300 30,300 0
02 &3 8 x| 30,300 30,300 0
1.2 322 X4 30,300
ot.52 250,000& x1H x12& 3,000
Lt.62 165,000& *3H 128 5,940
Ct.72 155,000 x4 »12& 7,440
cl.8~9= 145,000& x8H 128 13,920
Jl=23 bl 102,182 103,405 N 1,223
JlE2343Hl 102,182 103,405 N 1,223
201 Bt A | 48,562 48,322 240
01 AP 2t2l bl 24,154 23,956 198
(Let249H|) 13,618
1. 28289 +8H| 300,000& *16H *80% 3,840
2.0 MdEZRIHEH/EE 200,000 *4CH x4 3] 3,200
3.els0|el = 20,000& *3 12& 720
4.015)|2& =& H| 100, 000& *23] 200
5.2AMNEEIEY 180, 000& = 1CH 63 1,080
6.FRSEsx2Ld=EX 26,000 *30F A 780
7.0 HNMEZEX 80,000& »208 A 1,600
8.2 AKXl 20,0003 »402 A 800
Q. 0HIZERANREE 100,000& ~12& 1,200
10.CIXNEESMZ 16,5003 x 1CH 12 198

_83_




2A: BHE2S
M HH2HGHI(EHA2S)
¢l =gl

SA BB O () - MM - HES il
(gxr2) 720
1. 80| X s 30,0003 x 12 »2CH 720
(2gag) 600
ETES= 60,0002 1% 102 600
(22h0) 9,216
1olggesssagay
8,000 & x6 A x16H x 128 9,216
02 2322l 24,408 24,366 42
(SS22LHA) 18,524
1.2E= 7,104
b, gt 4303 x200H4 123 1,032
L. &1 2,530& *20021 x12& 6,072
2.8l = 700,000 x12& 8,400
.40t ER3 70,0003 =122 840
4. 833X LR 200,000& »23| 400
5 sdEXNHEER 500,000 x1CH 13 500
6.sHIEXNHZAME 60,0002 x1CH*13] 60
7. SHEXS NS IA 30,0002 x1CH*13l 30
B.UAEEHEINTEEE
1,000,000 =10 =13l 1,000
9.X¢FE=EXXE =3 60,0002 x1CH*13] 60
10.XFESNXHS NS A
130,000 = 1CH x 13l 130
(A=dl) 1,296
1. X5t gloa PSR
1,350 34 *4 Al 2t+80L 1,296
(N EZHI XLl 4,588
1. 8ANAE 950,000 950
2. HF LS FHI 100, 000& * 14! 100
3.2 AMESD 150, 0002 = 1CH 150
4. HEI S S FH 150,000& = 1CH»12& 1,800
5. dF Xt &2l 100,000 »2CH 33| 600
6. 20| 50,000& *2CH 100
7.2 E0AIAY 33,0003 *4CH 43 528
8. X 2C1A (2 E 22| )AIAE
30,000 x1CH*12& 360
202 o4dl 42,000 42,000 0
01 =2 LHAO Y] 9,600 9,600 0
1.2 WA 20,0003 x10€ x4H «12& 9,600
02 FAHHYI 32,400 32,400 0
1.8 A0 Y| 225,000&x12H «12& 32,400
203 PR =&l 9,820 9,820 0
01 J22FHR2F=8I 5,940 5,940 0
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A & O & A B Ml M
20229 & 20la LS JIEISEEH DES ~ ARS
SN PYS
M 3o #E MY TQ(RYE)

oo s 29 (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
TS 1,291,243 1,304,605 213,362
=0 MY HO ER2(RYS) 264,145 269,116 AN4,971

AYSANHE 2E 264,145 269,116 A4,971
s.8t8 X 205,920 205,920 0
301 LEIEN = 205,920 205,920 0

06 S8 -0 -t¥Es2d= 205,920 205,920 0
1.88+9 & 254l 205,920
tol2==¢ 300,000 »44H »12& 158,400
L& = 300,000& »44F »23 26,400
Ch.alodag 20,000 x44H #23| x 12 21,120
FURANHHEZO S 29 32,820 32,820 0
201 fEt2E | 32,820 32,820 0
01 At 2t 2l bl 32,820 32,820 0
(get=2Hl) 1,620
1.0 XM EH 2SI 150,000 «12& «90% 1,620
(29=¢) 31,200
.UM B A 31,200
b HAATR(EZ) 25,0002 *8AI 2«12 2,400
Lt HAAZR(EZ) 25,0008 +8A12t+12& 2,400
CtHAAZX(1DZ) 25,0008 +8AI2t«122 2,400
et .CHOIHEHA(Z2)
25,0003 *8Al 2tx12E 2,400
Ot CIHOIHEHA(EZ)
25,0003 *8Al 2tx 128 2,400
. J)tna(xg) 25,0003 *8Al 2+ x 12 2,400
ALRItWA(ES) 25,0002 +8Al 2+ x 128 2,400
Ob.otuA 25,0003 *8Al 2t+ 128 2,400
Aot2Ustn A 25,0002 +8Al 2+ x 128 2,400
. =803 25,0003 *8Al 2tx 128 2,400
JhUEMEHA 25,0002 *8Al 2+ x 128 2,400
Et.2eldetml(E=2) 25,0008 *8AI2t«12& 2,400
.22 detml(53) 25,0008 +8AI2t«12& 2,400
MR 2] 15,405 20,376 AN4,971
101 124 4] 6,705 6,376 329
04 D12 H22 XS 2=+ 6,705 6,376 329
(SFA 8 Y) 6,705
1.80 73,280 /8AI 2+ x 1 «55A| 2t %128 6,046
2AMATHEE = 6,046,000% *0.878% 54
3.1U18888 6,046,000 *1.65% 100
4. 2UHSEER 6,046,000 *4.5% 273
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444 CR2(RYSs)
HF=FXNHE 2 9 )
= - 4 14
SN EE B (BH) - HRAY - BES e Hl D= 2t
5.20AAEHZE 6,046,000 x3.43% 208
6.2 HIIQRYEER 208,000& x11.52% 24
201 €2l 2,700 2,700 0
01 At 22/l 2,700 2,700 0
1.Ro 3y eltdsr2 200,000& »12& 2,400
2EMEI U2 150,000& »23| 300
401 AIEBIZ 28I 6,000 11,300 A5,300
01 A& Hl 6,000 11,300 25,300
1.3&8A 28 YT At 6,000,000 » 14! 6,000
FUEHEMU A SEHEAY 10,000 10,000 0
201 LB-2EH| 10,000 0 10,000
03 A2 Z Hl 10,000 0 10,000
.73 22stel A2 =sA
10,000, 000& * 14! 10,000
SADIBAIE FHI(RYS) 5,000 5,000 0
S AIDJIBEAIE FEHI 5,000 5,000 0
A2 ANEE FHI 5,000 5,000 0
401 AIEBIZ 28I 5,000 5,000 0
01 A& HI 5,000 5,000 0
1.422 AME2 RN 5,000,000& =14l 5,000
HY2IZH(RLS) 1,022,098 1,030,489 A8,391
el 2l 907,668 889, 167 18,501
ol 2| 907,668 889, 167 18,501
101 @124l 875,388 857,007 18,381
01 2= 875,388 857,007 18,381
(22) 613,425
1.938H(1Y) 85,587
.s% 82,295,000& »1H 82,295
Lt. ™ <&l 82,295,000 *4% 3,292
2. Mz g (169) 527,838
r.63(2688) 4,192,000 x3H 128 150,912
Lh.72(8s8) 2,581,900 x6H 123 185,897
Ct.s=2(628) 2,136,000 x5H x12& 128,160
et.924sE) 1,773,600 x2H 123 42,567
Ot. ™M <& dl 507,536,000 *4% 20,302
(840 ¢) 52,137
1SR+ 2,150
.52l (6=3128)
4,369,6003 « 1 4 1%+ 123 2,150
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SN RS
B #HL2ABY(PYS)
chel: ol gyl CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
2. 824 527,838,000 *1/12 43,987
3.82==Eoe=s 6,000
Jb. 254 0] & 130,000& x2H x12& 3,120
Lt.15E@ 0l & ~ 20 0 gt
80,000 x1H » 128 960
CH10E01& ~ 15018t
60,000 x1H » 122 720
ct.58 014 ~ 108012t 50,000 ~2H 128 1,200
OHEdE=¢) 32,747
1.1&5E 6,240
Ot BH Xt 40,0003 x5H 128 2,400
L. A= (R M XAE) 20,0002 »29 <128 480
Ch.MHE=Z(EMAE) 60,0002 1 «128 720
et M= (Mol Z= HtH)
100,000 x1H x 123 1,200
Ot.JIEFDLS 20,0003 x6H x128 1,440
2.2052 g (72658)
2,375,400 »1H «50%* 12 14,253
I.R0HEH+H (8355 3)
2,042,300 »1H «50%* 12 12,254
(E==22=+Y) 24,240
1.5=82¢ 24,240
t.s2f+H 70,0003 x16H 128 13,440
Lt QIR R 50,0003 »4H 128 2,400
AR =SXNE R+ 70,0003 x7H +128 5,880
et A S XY RIS
30,0003 x7H+128 2,520
(zu282¢) 71,495
TLAGRAZ RS
10,9523 34 Al 2t 16H « 128 71,495
(A4 8) 81,344
1.8 Mg Al 140,000 = 17H 128 28,560
2. BEF Iyl 527,838,000& x1.2/12 52,784
204 MR AH| 32,280 32,160 120
02 22 =4l 32,280 32,160 120
1.4 g2 x| 32,280
Jt.532 250,000 x1H =123 3,000
Lt.62 165,000& 3 122 5,940
tt.72 155,000 x6H x12& 11,160
ct.8~92 145,000& 7H 128 12,180
Jl23dl 114,430 141,322 A 26,892
JlE2&l 114,430 141,322 A 26,892
201 Let2d] 56,900 54,392 2,508
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N & o & AF & H Al A
20229 = 20la LB JIEISESH DEs ~ ARS
2N ASS
M 3o #E MO TQ(RSE)

& HAEERNCUE 23 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
43S 1,100,871 1,120,805 A 19,934
F0 MY B SR(AS8S) 183,505 183,176 329

HF=FXNHH 2 183,505 183,176 329
sHE & 135,720 135,720 0
301 LPEAZF 135,720 135,720 0

05 8% -0 -tH¥ESE4S 135,720 135,720 0
1.88+8 € &3l 135,720
ol 300,000& 29K x12& 104,400
L. &= 300,000& 299 #23| 17,400
Ch.3l o & A =g 20,0003 x29Y #2353 x 128 13,920
HYSANHH Z208 29 28,020 28,020 0
201 L2l 28,020 28,020 0
01 At 22l 28,020 28,020 0
(get+=&dl) 1,620
1. HE=SXNMEH 23l 150,000& 122 *90% 1,620
(2g9+¢) 26,400
1. HEEXNEE A+ 26,400
Jb. MOl m A 25,0003 *x8Al 2t 128 2,400
Lt . Z2te A 25,0003 *8Al 2+ x 12 2,400
Ct.RJtwa 25,0003 *x8Al 2t 128 2,400
ch.ot2LItRA(E2)
25,0003 *x8Al 2t 12& 2,400
OF.at2L2IR & (x23)
25,0003 *8Al 2t+12& 2,400
.= 8013 25,0003 *8Al 2+ x12& 2,400
AR A 25,0003 x8Al 2+ 12 2,400
Ot.cteleh A 25,0003 *x8Al 2t 128 2,400
A LAHO0IHEH(ES) 25,0002 *8AI2t«122 2,400
X 2 HO0IHEH=S) 25,0009 *8AI2Hx12& 2,400
Jb.AEHA 25,0003 *8Al 2t 128 2,400
A X 2e 9,765 9,436 329
101 @124l 6,705 6,376 329
04 JIZHHNZ2XNSE =+ 6,705 6,376 329
1.8E8AFELURY 6,705
Jb.JI25 73,2803 /8AI 2 1H+55A1 2Fx12& 6,046
.2 6,046,000& *1.65% 100
O.&4THEE 6,046,000& *0.878% 54
ct.JeASEH 6,046,000& *4.5% 273
O =842 28 6,046,000 x3.43% 208
&I RYEE 208,000& x11.52% 24




SNBSS
Ha: =0l 8N MO T2 (ASE)
o dISFANAEH 29 (&)
= - = 4 &
A EE R (E) - HRAY - B S of 4 o4 il HI RS2
201 2er= Sl 3,060 3,060 0
01 At 2t 2l bl 3,060 3,060 0
(AR28) 3,060
1.2oAY BRI @E42  230,0008 <122 2,760
AN ELR
150,000& 101 A +23] 300
FUEFNHML SEHEAE 10,000 10,000 0
405 Ab&HF SHI| 10,000 0 10,000
01 &L ESFHSH 10,000 0 10,000
1.284¢g 0] &% 01S& CCTV £X
10,000,0003 * 14| 10,000
SAIJIBEAIE EHI(28S) 5,000 5,000 0
SAIDIBEAIE EH 5,000 5,000 0
A2E2F ANE= FHl 5,000 5,000 0
401 AIEHIZ SR CHYI 5,000 5,000 0
01 AlZHI 5,000 5,000 0
1.2=25 ANE2 A2 5,000, 000& =14 5,000
#Y2LZH(2ES) 912,366 932,629 A 20,263
el=l 2l 809,794 831,797 A 22,003
el 2l 809,794 831,797 22,003
101 @128l 779,614 801,617 22,003
01 2= 779,614 801,617 22,003
(23) 561,152
TesSH0g) 85,587
s 82,295,000& 1 82,295
Lt X S IH & i 82,295,000 *4% 3,292
2. X3 E(15Y) 465,565
6= (225 8) 3,994,800 x3F x12& 143,813
Lt.728(853) 2,581,900 »3& 128 92,949
tt.8=2(588) 2,042,300 x6E «12& 147,046
ct. 98 (45 8) 1,773,600 »3& 128 63,850
OF. X < JH & i 447,658,000 *4% 17,907
(A =g) 46,118
1.82+¢ 465,565,000& *1/12 38,798
2.832x4ita 7,320
Jb.253 01 & 130,000 1 122 1,560
Lt.20E 01 &f~25E 012t 110,000& 2 »12& 2,640
Ct.10= 0l &f~15 012t 60,0003 x 1+ 123 720
ch.5 0l &~10E 0| 2t 50,0002 x4 123 2,400
OHEd¢) 18,240
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zss
HHSAAY (RSE)
ol 2oyl SRED)
SA-EB B (BH) - MRAY - B O 4t o8 il 2t
1.5+ 7,440
OF Ui Xt 40,0002 x8H x12& 3,840
LF.JIENHIS 20,000& 9 x12& 2,160
Ch.2MAH 60,000& x2H x12& 1,440
2.2058 Y 900,000& x1H x12& 10,800
(S2222g) 23,640
1.S+22ay 23,640
h.s2fx¢ 70,000& «15H x12& 12,600
L. Ol Ra 50,000 *3H x12& 1,800
Ch AN EXNEREE 70,000& x8H x 128 6,720
e AISI S X YRS I3
30,000& x7H x12& 2,520
(ZB2249) 67,027
LAz 2R ey
10,952& *34 Al 2tx 15 « 128 67,027
(AHlE2d 5) 73,437
1. 3N Z A 140,000& x16YH x12& 26,880
2. @ &E S JtH| 465,565,000 x1.2/12 46,557
204 & 2 4= A H| 30,180 30, 180 0]
02 =28 xH| 30,180 30, 180 0
1. 832 X4 30,180
ot.52 250,000& x1H x12& 3,000
Lt.62 165,000 *3H x12& 5,940
.72 155,000& *3¥H 128 5,580
ct.82~93 145,000 x9H »12& 15,660
102,572 100,832 1,740
]l 102,572 100,832 1,740
o2 A Y| 46,652 46,412 240
01 At 22l ] 23,244 23,124 120
(dert==24|) 12,708
1. 2NSH=SH| 300,000 16X *80% 3,840
2.0HZ2 LR AR E S| 100,000& = 12& 1,200
3.0 ERE EH/EE
200,000 *6CH x4 3] 4,800
4. 2AMNESEI] EYH 100, 000& *2[H *23] 400
5.0z ELEX 80,000& »108t A 800
6.FRSESx2L=EX 26,000 » 182 A 468
7.2 A2 X 20,000 *308r A 600
8.21&D| 2= 20,000& *2J = 12& 480
9.2488&s5x02 10,000 x1CH*12& 120
(dxt2) 720
1. 8] 30,000& =20 12& 720
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SNBSS
B #HLARY (RS S)
erel: Jl= 2| (29 a8)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
(2g9+<) 600
IREEES= 60,0008 *1% * 10 600
(22l) 9,216
fol2gesssagalyl
8,000& x6AI x16H x12& 9,216
02 53294l 23,408 23,288 120
(B222 ¢ HMA) 20,074
1.2#H2 7,104
Jb. Bt 4303 %2004 *12& 1,032
L. S9I 2,530& x20021 x12& 6,072
2. 80|12 850,000& ~12& 10,200
3. 4Gt 2 50,000& «12& 600
4. 85X HAxS2 200,000& *13] 200
500X MALES 70,000 *1CH *13] 70
.HYXNY BEE 600,000 = 1CH 600
7. 80| BEE 1,000, 000& *1LH 1,000
8. HAXY XK= XAl 150, 000& *2CH x 13 300
(AIEZHI S XIH]) 3,334
1.3A2H2 A2 44| 800,000& *1JH 2~ 800
2.2AE S| A2l 100, 000& *2CH 200
3.01EX 80U € |4 100,000& = 1CH 100
4. 27| w22l 50,000& = 1CH 50
5. 20 &0l Al A8 X2 4H|
33,000& *2CH *4 3] 264
6. KNS QAAIAE X2 4H|
30,000& *1CH+x12& 360
7.HENY REH| 80,000& *1CHx12& 960
8. A %2l 100,000 *2[H *33] 600
202 044l 42,300 42,300 0
01 2LHOHI 7,200 7,200 0
1. =2UWH Y 20,000& x10L x3H x 128 7,200
02 X0l 35,100 35,100 0
1.2 XY 225,000& *13¥ x12& 35,100
203 ¥R =&Y 9,820 9,820 0
01 JI22HAR=AY| 5,940 5,940 0
1|2 2HA2ETH 6,600,000 * 14 *90% 5,940
02 JAJNAHRFXH| 640 640 0
1.8 2| 40,000& 16 640
04 BN2HARETY| 3,240 3,240 0
12N RFEY| 300,000& *12& *90% 3,240
204 &2 = A H| 1,800 1,800 0
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N = 0l & At & Ml A

2022 & =20 A LBHSH L IIEIEEEH DES ~ 2RSS
SN SUS
MM =0l AN BHO T2 (SUHS)
Sel Y MESY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
=S 1,173,371 1,246,875 ANT3,504
FO MHA BHO E2(SUHS) 229,994 325,240 N 95,246
HEEXNLMHEH 229,994 325,240 N 95,246
SeHAX 187,200 182,520 4,680
301 et A =2 187,200 182,520 4,680
0B SHE -0 -EHEESEMN= 187,200 182,520 4,680
1.&8&8s5 2 &3 187,200
b olesg 300,000 x40H «12& 144,000
L. &= 300,000 *40H *23| 24,000
Ch.3l o =% 20,000& »40YH 23| x12& 19,200
FOTXNHMHEZZ ) HESA 20,820 20,820 0
201 Bt 4d9H]| 20,820 20,820 0
01 AP 22| H| 20,820 20,820 0
(det==24|) 1,620
1.FUXNXHE S2FH| 150,000 12 *90% 1,620
(2d+Y) 19,200
1.ZF0XNXAE ZAIE=E 19,200
Jb. A0l A 25,0003 «8A| 2tx12& 2,400
LE. ctQlch A Al 25,0003 *8A| 2tx12& 2,400
Ch.olenmal 25,0003 *8A| 2tx12& 2,400
ct.RJtwal 25,0002 «8A| 2tx12€ 2,400
O oluWA 25,0002 «8A| 2tx12& 2,400
H. 22w 4 25,000 x8A| 2tx12& 2,400
ALEHODE FOXNXEEH T2 )2
25,000 *8A| 2Fx22 X+ 12 4,800
HAIS X 22| 12,874 111,900 A 99,026
201 Yot Y| 12,874 5,420 7,454
01 AP 2t 2] d| 12,874 5,420 7,454
1. 203022 350,000& x12& 4,200
2.EAMNEIIGHEHH L2 280,000& x12& 3,360
J.EANESLIISA2CHE =2
132,000 x12& 1,584
4 HANSLINAEIZAH(SLIEZH)
130, 000& *13] 130
5. A8AEMEHN# =2 3,300
O ABAIE oA 2He| 176,000& = 10& 1,760
L. SS8dLEA & HS)IsEE
770,000 x23| 1,540
6. AE2LX DNELELS 300,000& 300
FOEHUHAN SETHEAY 9,100 10,000 A 900
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2N SUE
ol F0 #H HO =2(SU
ool HYSNMESY

DA HB B (EH) - MBAY - BAS il 2
405 XHoHF SHI 9,100 0 9,100
01 Mt =S FSHI 9,100 0 9,100
1. 4401 &1 @5 0l=s4 CCTV & XI(2CH)
9,100,000& * 14 9,100
SAIDIBEAIE HEI(SWS) 5,000 5,000 0
S ADIBEAIE A HI 5,000 5,000 0
ABS AEE2 HH| 5,000 5,000 0
401 Al HIL 200 5,000 5,000 0
01 Al& bl 5,000 5,000 0
1.40252 AIE=2 S22 5,000,000& * 14 5,000
HHSHAH (SUHS) 938,377 916,635 21,742
ol 2 A 821,055 807,707 13,348
ol 2 A 821,055 807,707 13,348
101 @121l 790,635 777,407 13,228
01 2 790,635 777,407 13,228
(23) 570,217
1.2/ (1H) 85,587
. s 82,295,000 x1H 82,295
Lb. X 2 IH& I 82,295,000 *4% 3,292
2. 83ZE(15%) 484,630
b .e=(165 2 3,605, 100& x3H x12& 129,784
Lh.72(888) 2,581,900& x5 »12& 154,914
th.sz2(722) 2,231,200& x6H 128 160,647
ct.92 (38 8) 1,720,400@ x1H »12& 20,645
OF. X 2 IH& bl 465,990, 000& *4% 18,640
(&0 4=<) 46,506
1.822¢ 484,630,000 x1/12 40,386
2. 8324 0Ha3 6,120
JF. 153 0l &~20 80,000 *3H x12& 2,880
Lt. 10 0] & ~15H 0] Bt 60,000& x2H x12& 1,440
Ct.54 0l &~104 0] B¢ 50,000& *3H x12& 1,800
JIHEE =) 6,960
1.052Y 6,960
Jb . Hi < Xt 40,000 *3H x12& 1,440
LE.JIEHIS 20,0003 *14H x12& 3,360
CHOIMZ2(EMRH 60,000 *3H x12& 2,160
(SE4222Y) 24,582
1.5x82aY 24,582
h.s2FExY 70,000& *15H x12& 12,600
L. QI3 2 50,0002 *3H x12& 1,800
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M SUS
M HH2IZH(SUS)
& o 2d| (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ct AL =R 22 70,000 x7H « 128 5,880
(S N -1 RPN =) 30,0003 x6H 128 2,160
OF. Al 2H& B R 2,231,200 8%+ 1H 12 2,142
(=n=22=+4) 67,027
1A 2R+
10,9523 34 Al 2t 15H « 128 67,027
(24 8) 75,343
1. 3 Mz Al 140,000 16H 122 26,880
2. BEF Oty 484,630,000% *1.2/12 48,463
A=A 30,420 30,300 120
ESE=eEN | 30,420 30,300 120
1. 222 =l 30,420
t.5a 250,000& x 18 «12& 3,000
Lt.62 165,000& »3H «12& 5,940
.72 155,000& 5 128 9,300
ct.8~93 145,000 x7H 123 12,180
|23 bl 117,322 108,928 8,394
JlE2&l 117,322 108,928 8,394
201 LBH2d| 62,802 54,508 8,294
01 At 22l 23,126 21,566 1,560
(Ler==8Hl) 11,030
1. 242 =2l 300,000& * 16X x80% 3,840
2.UHIZERARES 100,000& 12 1,200
BLAIOIMEZBEEENH/E™ 200,000 *5CH x23] 2,000
4.01380|el2 20,0003 x1CH*12& 240
50L2ZAESIIEY 200, 0003 *2CH 23| 800
6.2 ASENL=SEX 80,000 » 155+ A 1,200
7.FUSESE2L=2EAN 26,0003 x25% A 650
8. = ALEX 20,000 »40% A 800
QMEZIANAEHES A23F7Y 2 =44
300,000& 300
(2g=¢) 600
1. 898y 60,0003 x1H 10 600
(=&4l) 9,216
11282825 4H
8,000 «6AIx16H <123 9,216
(2 2) 2,280
1. 82D gtz 30,0003 *3CH*12& 1,080
2.3JIEEI Xz 50,0003 *2CH*128 1,200
02 =224l 39,676 32,942 6,734
(S32L2LHA) 34,500
1.28= 12,020
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2M: SUS
Hu: H2AA (SUS)
chelr D123l
SA BB O () - MM - HES 0l &+ o4 il
Jf. et 430 *27024 x128 1,394
L. &1 2,530& *35024 x12& 10,626
2. 80|l 1,300,000& »12& 15,600
3.EAItARE 150,000& »12& 1,800
4. 40tE2 200,000 x6 & 1,200
53 arrra 180,000& * 13| 180
6.MN=THLATE 400,000 »23| 800
PSRN DN Ry = 60,000& x13] 60
8.sdHEXNH%EER 750,000 *2CH 13 1,500
9. AN ESEAAMTTE 60,000& *23] 120
10. 23N 22 (SHI)
70,000 x23| 140
M. sHE XSRS A 100, 000& *2CH =13l 200
1R.uUSRYREa 400,000 13| 400
13.213&8 FARH AHURZB
20,0003 x2CH =128 480
(AN & ZHI S 2,576
1. EAHSRIE 1,000, 000& 1,000
2. AL ST HI =X 100, 000& 14 100
3.2AMESD 170,000& »2CH 340
4. 2==J| KA 2l 70,000& »2CH 140
5. 20 E0A AKX B (2URAA)
33,000& +3CH 43| 396
6.2EH 2l A8 S X2t
30,0003 x1CH*128 360
7. 8IS AEIANERS
20,0003 x1CH+122 240
(XL etl) 2,600
1. X5 FH 150,000& = 1CH »12& 1,800
2. Xt &E Ul X gl 200, 0003 *2CH 23| 800
202 4 HI 42,300 42,300
01 =S LHAYI 7,200 7,200
1.2 WA 20,0003 x 10 x3H x 128 7,200
02 X 35,100 35,100
1.2 AN 225,000& x13F »12& 35,100
203 YR F&H| 9,820 9,820
01 J22IF PR =8| 5,940 5,940
1|22 =8| 6,600,000& =13 x90% 5,940
02 ZAIMH 2= 640 640
1. E3RA R =8| 40,000& x164H 640
04 EMNSSIHRF=EHI 3,240 3,240
1.2A2EE R8I 300,000& »12& x90% 3,240
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= o
A & 0l & AF 2 E A A
20229 = 20la LB JIEISESH DEs ~ ARS
SN SHS
M =0l #F MO TR(SHE)
& HAEERNCUE 23 (&)
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
sSHS 1,179,341 1,179,728 A 387
F0 WY B SR(SHES) 208,116 199,416 8,700
HF=FXNHH 2 208,116 199,416 8,700
=.BHE 23243 163,800 163,800 0
301 LPEAZF 163,800 163,800 0
05 8% -0 -tH¥ESE4S 163,800 163,800 0
1.88+8 € &3l 163,800
ol 300,000& 35 x12& 126,000
L. &= 300,000& 359 #23| 21,000
Ch.3l o & A =g 20,0003 35 «23|«12& 16,800
FOHHEZOSE RS 13,296 13,296 0
201 €24l 13,296 13,296 0
01 At 22l 13,296 13,296 0
(Zer==gHl) 1,296
1.FE XX EEH2E 120,000& =122 *90% 1,296
(2g9+¢) 12,000
1. LA 12,000
Jb.2JH(A) 25,0002 *8Al 2+ x 122 2,400
Lt. 2It(B) 25,0003 *8Al 2+ x 12 2,400
Ct.CHOIHEH A 25,0003 *8Al 2+ =122 2,400
ct. =803 25,0003 *x8Al 2t 128 2,400
Ot.2el et 25,0003 x8Al 2+ 12 2,400
AN 22| 21,020 12,320 8,700
201 ¢er24| 16,020 11,020 5,000
01 At 22/l 14,020 11,020 3,000
1.2oZHs4= 320,000& »12& 3,840
2. HJI M A A 160,000& =128 1,920
S ATANLNHEE M 150,000& = 12& 1,800
4 A0UANE HSIIsES 700,000& » 14! 700
5. 82 JIEIIEE U 230,000& =128 2,760
6.58S A eI |2l
250,000& »12& 3,000
02 =224l 2,000 0 2,000
1.8l =2l 2,000,000& 14 2,000
401 AIEHI L 20 5,000 0 5,000
01 A& HI 5,000 0 5,000
1.0l 2SO Wer2 Dl WA 5,000,000 x 14! 5,000
FUEHOMU A SEHEAY 10,000 10,000 0
401 Al HI K 2018 3,000 10,000 A7,000
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SN SHS
M Fo #E MO TR(SHE)
el HESRME 29 (S &2)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
01 Al&H| 3,000 10,000 AT7,000
1.38 Fogad32t &4 3,000,000& x 14! 3,000
405 XHo&HF S HI 7,000 0 7,000
01 JHMY =2 E F S H 7,000 0 7,000
1482 s3I &X 3,500,000& » 14! 3,500
2.SHS DINFY & SY(LT2HE £7)
3,500,000& » 14! 3,500
T AIDIBIAIE HHI(S®ES) 5,000 5,000 0
S AIDIBEAIE & 5,000 5,000 0]
ABS AEE2 HH| 5,000 5,000 0
401 AIEHI L 201 5,000 5,000 0
01 A& HI 5,000 5,000 0
1.40252 AIE2 FA22 5,000,000& * 14! 5,000
HHSHAH (SES) 966,225 975,312 N9,087
oA A 830,219 841,524 A 11,305
ol 2AHH| 830,219 841,524 A 11,305
101 @121l 800,039 811,344 A 11,305
01 2% 800,039 811,344 A 11,305
(22) 566,872
1.92H(1H) 85,587
.S 82,295,000 x1H 82,295
L. H<LIH&HI 82,295,000 *4% 3,292
2. 83¥(15%) 481,285
.62 (195 8) 3,815,600 »2H x12& 91,575
.73 (1428) 3,112, 100& x5 x12& 186,726
Ch.sz2(bae) 2,042 ,300& x5 x12& 122,538
ct.92 (38 8) 1,720,400& »3¥ x12& 61,935
OF. H L& HI 462,774,000 *4% 18,511
(&0 4=<) 48,997
1.UHRSRA =< 1,929
b e2lR(7T32952)
3,919,200 x1H x4 1%~ 12& 1,929
2.82sx¢ 481,285,000 x1/12 40,108
3. 832t 3 6,960
JF.25E 0] & 130,000& x 18 x12& 1,560
JF.20 014 25012 110,000 *»1H «12& 1,320
Lt. 15301 & 204 0] 2t 80,000& 1 x12& 960
Ch.104 0| AF~154 0| 2F 60,000& x1H ~12& 720
2.5 0] & ~10E 0| 8+ 50,000 *4H x12& 2,400
(JHAHBEE=E) 19,934
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SN SHS
BN BHLARY(SHE)
chel: ol gyl CEEEED
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
1.5+ 7,680
OF Ui Xt 40,0002 x6H x12& 2,880
LF.JIENHIS 20,000 x4H x12& 960
CH.OIEHDFE 20,000& x4H x12& 960
.= M XA 60,000 x4H x12& 2,880
2. S0tEXN+ (8358 2)
2,042,300& *50%* 1H x12& 12,254
(Ex224Y) 22,200
1.€E8F42Y 22,200
h.s2fx¢ 70,000& «15H x12& 12,600
L. OIaafxy 50,000& x4« 128 2,400
.M =EXNEREE 70,000& x6H x12& 5,040
2 AISI S X YRS I3
30,000 x6H x12& 2,160
(ZB224+9) 67,027
I EERN
10,952& *34 Al 2tx 15 « 128 67,027
(AdlE2d 5) 75,009
1. 3N ZAH| 140,000& x16H x12& 26,880
2. @ &E S JtH| 481,285,000 x1.2%1/12 48,129
204 & 2 4= A H| 30,180 30, 180 0
02 =28 xH| 30,180 30, 180 0
1. 832 X4 30,180
ot.52 250,000& x1H x12& 3,000
Lt.62 165,000 x2H 128 3,960
.72 155,000& x5 ~12& 9,300
ct.8~92 145,000 *8H »12& 13,920
Jl2&Hl 136,006 133,788 2,218
Jl23Hl 136,006 133,788 2,218
201 et A | 82,386 78,068 4,318
01 At 22l ] 29,316 29,056 260
(det==24|) 14,592
1. 2NSH=SH| 300,000& 16X *80% 3,840
2.0HZE2ANREE 100,000& = 12& 1,200
3.EQEINEH/EH 250, 0003 *x50H x4 3] 5,000
4. 01=0|el2 16,0002 x2CH x12& 384
52ZMNESEIEY 150,000& *1CH *23] 300
6.0 2Z2ZTHANLZEX 84,000& »158F A 1,260
7.F00SsEsx2d=2EX 26,000 *30 A 780
8.3 {AAMEE Y 16,000 *23| * 1404 & 448
IHSUINE =X 100,000& =10~ 12& 1,200
10.788sx82 15,000 x1CH =128 180
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SN SHS
BN BHLARY(SHE)
erel: Jl= 2| (29 a8)
SA - BB (BH) - MEAMY - BYS ofl &t o SSa HDE2
(2929) 600
IREEES= 60,0008 *1% * 10 600
(22l) 9,216
fol2gesssagalyl
8,000& x6AI x16H x12& 9,216
(d4x2) 4,908
1. 845J|9X2 30,000& 10~ 12& 360
2.0l Xt=s 25,000& =40~ 12& 1,200
3.30/&8&IeX= 50,000& =20 12& 1,200
4. ZHETSEILXE 179,000& =10~ 12& 2,148
02 352494l 53,070 49,012 4,058
(ZZ222LHA) 47,782
1.28= 8,622
Jb. 8t 430& 20024 128 1,032
L. S21 2,530) x25024 x 12 7,590
2. 80|12 2,800,000& 128 33,600
3. 46t 2 250,000 x12& 3,000
4. NERLIES 400,000& 13| 400
5 ¥ XY BEE 1,000, 000& =2LH 2,000
6. HEXE XS XA (20H) 160, 000& *13] 160
(Al ZHHI S XIHI) 5,288
1.8AIHS 2,000,000& 2,000
2. HH S EH| 100, 000& *1LH 100
3.2 AT S D] 100,000& *2CH 200
4 2OIEQ0IAAE S X E 4=H
33,000& *4H x4 2 | 528
5. X2 AAI AR X2 4=H]
30,000& *1CHx12& 360
6. HAXNSY AHA=zH| 100,000& =128 1,200
7.8 RALE U 150, 000& *2CH 33| 900
202 044 42,000 42,000 0
01 2L Y| 9,600 9,600 0
1.2 WA Y 20,000& 10 x4H «12& 9,600
02 X0 H| 32,400 32,400 0
1.8 ¥ Y| 225,000& x 12 «12& 32,400
203 ¥R =AY 9,820 9,820 0
01 J22HALREAY| 5,940 5,940 0
1229 RF48Y| 6,600, 000& * 1 *90% 5,940
02 HJAJPAHRFAH| 640 640 0
1. 833NN R2FEH| 40,000& 16 640
04 ENSHLR=XH| 3,240 3,240 0
1.2 RFEY| 300,000& *12& *90% 3,240
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2N 22S

TS

H: TADJIBAIE HH|(Z2S)

Sl TAIDIBHAIE FHI (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
TAIEHI 20| 5,000 5,000 0
01 A& dl 5,000 5,000 0
1.423 NE2 sA2el 5,000,000 * 14 5,000
#Y2HAH(ZLS) 997,206 915,400 81,806
el 2l 880,400 808,592 71,808
eI =gl 880,400 808,592 71,808
101 @124 8] 848,360 778,292 70,068
01 2=+ 848,360 778,292 70,068
(23) 596,447
TLesSM0g) 85,587
s 82,295,000 1 82,295
Lt. X < IH & i 82,295,000 *4% 3,292
2. 232 ((16Y) 510,860
t.e2(1853) 3,749,100 «3E «12& 134,968
u.72(s8) 2,478,300 x4H x12& 118,959
Ct.8=2(958) 2,408,800 «6E x12& 173,434
2t.9=24s8) 1,773,600 x3H « 128 63,850
OF. X S i & I 491,209, 000& *4% 19,649
(Ao +==) 50,612
1.82+¢ 510,860,000& *1/12 42,572
2.832xgmtt= 8,040
Jh.202 01 &~25E 012t 110,000& »1& »12& 1,320
L. 15801 &~20 012t 80,0003 2 x12& 1,920
Ch.5& 0l &~10E 0| 2t 50,0003 x8H x12& 4,800
OHAEd =) 25,920
1.5+ 7,920
b Xt 40,0003 x7H ~12& 3,360
LE.JIEHES 20,0003 x7H 12 1,680
Ct. S M X 60,0003 x4 128 2,880
2. 5058+ 1,500,000& x1H 12 18,000
(S+22+9) 24,240
1L.S+x24¢ 24,240
h.s22=+¢ 70,000 x16H 128 13,440
L. 23R 50,0003 »4H x 12 2,400
CH AR =g e+E 70,0003 x7H 12 5,880
ch. Al SNSRIt 3
30,0003 x7H «12& 2,520
(ZEU22=¢) 71,495
LA 22
10,9523 34 Al 2tx 16 H « 12 71,495
(AHI24 8) 79,646
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X ZH -
L= B

el

o 02 M
J¥ 0% o
oY
o
W
{0
on

HO HO oK1
02 02

=5

SA - BB B (BA) - MM - BHES Ol &+ o4 il 2
1. 83U Z Al 140,000 *17H 128 28,560
2. B E F Ot 510,860,000& *1.2/12 51,086
204 AR HH| 32,040 30,300 1,740
02 252 Xl 32,040 30,300 1,740
1.8 ga x| 32,040
ot.52 250,000& 18 128 3,000
Lt.62 165,000& x3H 123 5,940
.72 155,000 4 128 7,440
ct.8~9= 145,000& 9H » 128 15,660
|23 bl 116,806 106,808 9,998
JlE&l 116,806 106,808 9,998
201 £B-2dH| 56,446 52,388 4,058
01 At 22l 26,692 23,858 2,834
(fer=dl) 16,300
1. 2M28 =8l 300,000& »17H x80% 4,080
2. ZEHEU 200,000& »4CH x4 3 3,200
3.ZEHEY 150,000 »4CH 13 600
4.0180|el2 30,0003 *2CH*12& 720
5. 2ANSIIEY 180,000 »2CH 33| 1,080
6.2 2SENLESEX 85,0003 » 15 A 1,275
7.FUSESET2L2EX 26,0003 #30H A 780
8.5 ALE X 20,0003 70 A 1,400
9.(IHI ZHRARES 100,000& 12 1,200
10. 213012l tl 200,000& »23] 400
11.tECIX (2HEZ2IE D) 80,0003 48t A 320
12.8J]4X= 30,0003 «3CH+122 1,080
B.RELESXMZ(AH0ETVRAZ)
13,750& 128 165
(2g=¢) 600
1. 92+ 60,0003 x 1 10 600
(SgHl) 9,792
12852344l
8,000& «6 A x17H 128 9,792
02 =224l 29,754 28,530 1,224
(SZ222LHA) 23,476
1.2E2 10,656
Jb. et 4303 *30024 =128 1,548
Lh. Sl 2,530 30024128 9,108
2. 8012 650,000& »12& 7,800
Aot R=a 200,000 x6& 1,200
4.0blZzS0H #lIz 100,000& = 12& 1,200
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